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TrigonometryExercise Answers for No.9124

[

)

Ansl = {sm(A) = 2 ,cos(A)= < ,tan(A4) = & 3333 csc(A) = ! seC(A) = ! f, cot(4) = Jj? },
Ans2 = {sin(A) = TS, cos(4) = g, tan(4) = «/575, csc(4) = S ,sec(4) = 9 4 cotA4) = : gs?s }
Ans3 = { sin(4) = S ,C08(A) ="F———,tan(4) = csc(A) = sec( )=
A25+x° A 25+ X

, 3 =9
Ans4 =|sin(Ad)=—",cos(A)=—""7,
X X

Ans. 1 =[y=sin(0),2m, 1,[-1,1]]
Ans.2 =[y=2cos(0),2m 2,[-2,2]]

27
Ans.3 :{yzcos(S 0), T, 1,[-1,1]
Ans.4=[y=-3sin(20),m, 3,[-3,3]]

[ 1 T 1[-1 1H
Ans.5=|y= gcos(46)—— -7

AnsS = 2’31373

0
Ans.6=[y=—4 COS(EJ+4, 47, 4,0, 8]}

1 21[-11
—sin(370),=,=,| =~
5 3555

Ans.7={y=

0
Ans.8:[y:—6 COS(T)— 5,6,6,[-11, 1]}

[Page 0001]

tan(4) = ﬁ csc(A4) =

er)em]

1
[y:—g cos(2mx)+4, blue}

, Ans6 = -
y=-3 cos( J black

[_y =—sin(x) — 1, green]

1 Tcxj
y=_cos| —_ |, cyan

2 3

|

a

cot(A4)=7" }

2
(
2
(
2
N
2
(
2
(
)
(
2

N

x2—9}

sec(A) ﬁ, cot(4) = 3
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TrigonometryExercise Answers for No.9197
4 3 4 5 5 3 V)
Ansl =| sin(4) = cos(A) = 5, tan(4) = csc(A) = sec(A) = cot(A) =1 , —(

84113 7 J113 «/113 o 8} {w/.’)}
, CO =_ b S|
7 8 7 -

7
Ans2 = {sin(A) =

113 ,cos8(A4) = 113 ,tan(A):g, csc(A4) = ,sec(A4) = "
[ 2 2
] x' -9 3 x -9 X 3
Ans3 =|sin(4)=—"—""—,cos(4d)=",tan(4d) ==, ¢csc(4) =—F——, sec(A)—— cot(A4) =—"F——
X X 3 ¥ -9 ¥ -9

st | i 4 A X =16 p 4 p A x =16 p X P 4
ns4 =| sin( )_—x , cos( )—x,tan( )——4 , esc( )——(—xz_m,sec( )—4,cot( )= /T_w

[ Ans.I=[y=cos(0),2m 1,[-1,1]] 2
Ans.2 =[y=6sin(0),2 7, 6, [-6, 6]] (
Ans.3=[y=sin(20), 7 1,[-1,1]] l(

Ans.4:{y:—2 sin(4 0), E’ 2, [-2,2]} [y:_gsin(gj_z’ black} Pl
0 o
s Ans.5:[y=—4 cos(6j 127, 4, [-4, 4]} s {y:_gcos&]’ blue} ’ l(
Ans.6=[ L cos(6 e)+4 =, [— —H [y =3 cos(2 nx), red] y
2 [y = sin(x), cyan] —(
Ans.7:[y= -3 sin[%ﬂ, 12,3,[-3, 3]} Ly =3 cos(2mx)+2, green ] Pl
1 1[-6 -4 (
Ans.8:[y:—gcos(2n6)— 1, l,g, {g,;ﬂ 2)
] l =
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TrigonometryExercise Answers for No.9252

5
Ansl = {sin(A) = g, cos(4) =

9 5439 8 8
,tan(A4) = ?, csc(A4) = g, sec(4) =

9
,cot(4)=

5] (&

5 o«

[Page

Ans2 = {sin(A) =

_ A/ x* =49
Ans3 =|sin(4)=—""
i X
, A Xt =25
Ans4d =| sin(4d)=—""—
i X
AnsS =

44f41
41

5
,cos8(A4) =

Al Xt =49
7

A xr=25
5

7
,cos(A)=",tan(4) =
X
5
,cos(A)=",tan(4) =
X

Ans. 1 =[y=sin(0),2w, 1,[-1,1]]
Ans.2 =[y=-2cos(0),2m 2,[-2,2]]
Ans.3=[y=cos(20),m, 1,[-1,1]]

Ans.4=[y= 3 sin(4 0), g 3,3, 3]}

1 n 1|-11
Ans.5 = y:—gcos(46),5,g, g,g

0
Ans.6=[y=2 cos(;) -4,6m,2,[-6, -2]}

2
Ans.7:[y:—2 cos(3m 6),5, 2,[-2, 2]}

41 4
,tan(A4) = g, csc(A) =

1  (no 1|-19 -17
Ans.8 = y:—gsmT —3,6,8, ??

J:F, sec(4) = E, cot(4) = Z},

- (nx _
[y:351n(7j+4, green}
=gl e
y—2sm 5 ) ue

, Ans6 = 1 X ,
y=—_cos| |- 3, black
2 3

[y =—cos(x), red]

=3l o
I y—2sm 5 , cyan |

(VIV10CH 1D:9:9:9:9:9:9:9.9.:9.9.9.9.9.9.9.0.0:0.0.0.0.0.0.0.0.9.9:0.0.9:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0.:0.:0.:0.:0:0.:0.:0.:0.:0.0.:0.0.0.9.0:0.9.0.0.0.0.0.0.0.9.0.0.0.0.4

X X 7

,csc(4) = —4/7, sec(A)=",cot(A) =—F——
2 7 [ 2

x =49 x =49 |

(4) == sec(4) =, cot(4) = ———

csc = sec =—,¢O0 =

b 2 b 57 2

Al x" =25 Al x" =25 ]

N N e N N

(

&

N
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TrigonometryExercise Answers for No.9312
739 } P/.-) }
b 2
o«

S 9 5439 8 84/39
Ansl =| sin(A4) = cos(A) = ,tan(A4) = ?, csc(A4) = g, sec(4) = ,cot(4)=

4 3 4 5 5 3
Ans2 = {sm(A) =—,co8(4) =" tan(A) = csc(A) =7 ,sec(A4) = 5, cot(4) = }

Ans3 = sin(4) =—— (4) =~ tan(4) == ese(A) = o) =L i) -
ns3 =| sin =—F——, cos =—F/——, tan =", CSC ==, Sec = , CO =
L AN4+x A4+x X 2
dnsd = sin(4) =—= (4) =~ tan(4) ==, cse(4) 0+ (4) = cot(A) =
ns4 =| Sin =" ———, COoS =" ——, tan =",CSC = _  ,S8eC = , CO =
L q/9+x2 «/9+x2 X 3 |

1
I

(mx
AnS7:|:y:_2 Sin(3ne)9§9 29 ['2, 2]:‘ L |:y:2Sln( 2 j’ blu€:| N

1 (n6 1]-13 -11
Ans. 8 = y=—§sm? -4, 12,5, T,T

X [Page = 0004] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKKKKKKKXXXX XX KKK KKK KKK KKK KKK LK XX XXX XKKKX

i Ans.1=[y=sin(0),2m, 1,[-1,1]] :)
Ans.2=[y=4cos(0),2m 4,[-4,4]] A

. 27 - . 2)

Ans.3=|y= 30),—,1,[-1,1 -

" [y sin(3 0) 3 [ ]} [y:lcos(ﬂj+2,red} o

o 2 3 )

Ans.4=|y=—4 cos(3 9),T,4,[-4,4] [y=—cos(x)+ 1, green] —(
X .

Ans5 = Ans.5:[y=3sin(gj,4n,3,[-3,3]} . Ans6 = [y:_?’ sm(zj_4’ blad{] 2
1 n1[46 [ 2 [ﬁj } :
Ans.6:[y:gsm(69)+l ;g[g,gﬂ YT N3 p l(

)

(

2

o
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TrigonometryExercise Answers for No.9397
245 3 345 ﬁ} {ﬁ}
5 b 2

,csc(A) = sec(A) = T, cot(4) =

Ansl = {sm(A) = 2 ,cos(A4) = ﬁ ,tan(A4) =

2 A
AnsZ:{sin(A): 97,c0s(A)=§,tan(A)= 87,csc(A):9177 sec(A)—9cot(A)—8{;7}, ,P/?}

| 49 / 2
Ans3 = { sin(4) = 4/4977 cos(4) = J497 tan(4) = csc(A) =——_ ,sec(4d)= %, cot(4) = %}
+X +X

2
Ansd = { sin(4) = F cos(4) = F tan(4) = csc(A )= ,sec(A)=—"""",cot(4) =
X 2 X

(O
Ans.8:[y:—6 sm(T] -2,8,6,[-8, 4]}

Ans. 1 =[y=sin(0),2m, 1,[-1,1]] l
Ans.2 =[y=-2cos(0),2m 2,[-2,2]] )(
2n _ _ -

Ans.3=|y= 50),—/, 1, [-1,1 ;
" [y cos(5 0), 5 [ ]} [y:—ésin(2 nx)—2, red} )(
Ans.d=[y=4cos(20), 1, 4, [-4, 4]] 2 2

0 [y =cos(x)+ 3, black] N

s — Ans.5:{y:—5 sin(gj, 12w, 5, [-5,5]} s [y=-3 COS)(C2X)’ green | 9 l(
Ans.6={y=—%sin(6 e)+5,§ % [25—4 25—6H [y:2cos(5j—4, ran P
__ X :(

Ans.7:[y:—§cos(2n6), ,é [;1 éﬂ L [y 3sm( 3 j blue} i 2
(

2)

(
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TrigonometryExercise Answers for No.9449

Ansl = {sin(A) = ,cos(A4) = ,tan(4)=—",csc(4d)=""_",sec(4) =

24/29 54/29 2 229 {29 o 5} {«/7}
CO = -
5 9 2 b 9

29 29 5 2 o
Ans2 = {sin(A) = 2 f, cos(4) = ! f, tan(A4) :%, csc(A4) = J?, sec(4) = E, cot(4) = %}, , {L()}

A 16 — X

X X 4 4 16 —x°
Ans3 =|sin(A)=",cos8(A)=—"",tan(4) ==, csc(4) =", sec(4d) =, cot(4) = —}
{ 4 4 A 16 % x A 16— X

q/x2—9
X

3
Ansd = { sin(4)="—",cos(4) =
X

[ Ans.l=[y=sin(0),2m 1,[-1,1]] 2

Ans.2=[y=—-6cos(0),2 m, 6,[-6,6]] N

] 27 2)

Ans.3 = y:sm(36),T,1,[-1,1] - 5 - —(

2 [y :5 sin(2 x), black} )

Ans.4 = y=4cos(56),7,4,[-4,4] —(
X :

nss s { 1 (30) 2 1[_1 1H st [Y:3cos(5j+4,green} 9

= ns.o = ="CO0S S 5 = . > —

s 775 375055 " [y = —sin(x) — 1, blue] o
0 — 3 .

Ans.6:[y =-5 cos(;) +2,4m,5,[-3, 7]} Ly==3 s15n(2 nz);- 3, cyan] 2

o y= —5 cos(_J, red (

Ans.7={y: —4 sin(T], 12,4, -4, 4]} - l(

1 1|4 -2 2)

Ans.8=|y=——cos(2mn0O)-1,1,,| = — -

L 3 3L3 31 Lo

X [Page = 0006] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKKXKXKKXXXXXXKKKKKKX XXX KKK KKK KKK KKK XKKXX

A 2 eso() =, sec(4) =2, coty = L2
, tan( )—macsc( )—35360( )—m,co'ﬁ( )= 3
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TrigonometryExercise Answers for No.9562

Ansl —[sm(A) = 2 ,c08(A) = 2414 ,tan(A4) = > «2/8174 csc(4) = 2 sec(A) _2yld ,cot(4) =—2E}, , [L()}
A”SZ{SmM)— &5 cos(4) = tan(4) = > ﬁ ;ese(4) = 35@ el ) = o 4) = zsﬁ} {L()}
/ 2 / 2
Ans3 = { sin(4) = M, cos(4) = ﬁ, tan(4) = ﬂ, csc(A4) = L, sec(A4) = é, cot(4) = S - }
6 6 x 36 — ¥ X A36 - x*

q/x2—9
X

3
Ansd = { sin(4)="—",cos(4) =
X

,tan(A4) = ﬁ csc(A4) =

Ans.l=[y=cos(0),2m, 1,[-1,1]]
Ans.2=[y=—-6sin(0),2 m, 6, [-6, 6]]
Ans.3=[y=cos(20),m, 1,[-1,1]]

Ans.4=[y=5 sin(6 0), % 5,15, 5]}

{ 1 2n 1[-1 1H
Ans.5=|y= —sm(se)—— — =

AnsS5 = 5°414°4 , Ans6 =

0
Ans.6=[y=6 sin(;jﬁ, 6m,6,[-1, 11]}

0
Ans.7:[y:—2 COS(TJ, 8,2,[-2, 2]}

1 . 1]-31-29
Ans.8 = y:—gsm(2n6)—5,l,—, —,

6L6° 6

|

sec(A) ﬁ, cot(4) =

3 (ﬂj 5 }
y=—sin| = , green

[y=cos(x)—2, blue]

I (x
[ y=—" sm(—) -4, black}
2 2

|

3
=" COS
)

X
=-2 sin(—j, red }
2 i

[

Mj }
5 ) cyan

[98)

x2—9}

N AN e e N L

I
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TrigonometryExercise Answers for No.9721

X

[Page

54/ 89
- g

, cos(

8
Ansl = {sin(A) =" g9

ﬁ

Ans2 = {sm(A) = 2 ,c08(A) = an(4) =

I ] q/x2—25
X

5
Ans3 =| sin(A4) = ,cos(A)=",tan(4) =
X

I , A/ 49 — x°

sin(4) = -

Ansd = ,cos(A4) = tan(A) =

Ans. I =[y=sin(0),2w, 1,[-1,1]]
Ans.2=[y=-2cos(0),2m, 2,[-2,2]]

T
Ans.3:{y=cos(6 0), ?, L, [-1,1]

AnsS =

1
Ans.6:[ :—cos(69) e

y
Ans.7 = {y——Zcos(6n9),—,2 [-2,2]

o 1
Ans.8 = y——Esm ? -2,12,= >

0008]

8
tan(4) =
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csc(A) = 2 ,sec(A4) = @, cot(A) =§}, s {L()}
,csc(A4) :g, sec(A) :#, cot(4) = «/?}, ,P/?}

f\/xz—25
5

T
Ans.4:[y:—2 cos(60), g, 2,[-2, 2]}

0
Ans.5 = [y =-6 sin(;j, 10w, 6,[-6, 6 }

N

X 5
, A)=—FT— A)= A)=—F—
CSC( ) m SCC( ) COt( ) m |

7

,esc(d) = ,sec(A4)=—,cot(4) =

49 —x* X 49 —x* |

[y =-2sin(2 x) + 4, black]
[y=—sin(x)+ 1, green]
3

[y = 5 cos(2 x), cyan

, Ans6 = A

el

),0:9:0.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:0.0:9:9.0:9:9.0:9:9.0:9.:9.0:0:9.0:0:9.0:0:0.0:9:9.0:9:9.0:9:9.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:9:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0.:9.0:0:¢

y=3 cos 3 ) re
1 T X
[y == cos(—J -3, blue}
L 2 3 _

R e e e R e =
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TrigonometryExercise Answers for No.9789

3 4 3 5 5 4
Ansl = {sm(A) =—,cos8(4)= g, tan(4) = 4, csc(A4) = 5, sec(4) = Z’ cot(4) = g}, , [ (

3 4 3 5 5 4 o
Ans2 = {sm(A)—5 cos(A)zg, tan(A):Z, csc(A)—3 sec(A)— ,cot(4d)="7 } ,[—(}
) 4 Al X ’\/
ns3 = sm(A) —F—,c08(4) ="TF—7—7—— tan(A)— ,esc(A)=—"—" sec( )=""" cot(A)—
Al X+ 16 Al X+ 16 x
, 36 —x X 6 6 36 —x
Ans4 =| sin(A4) = —, cos(A)=—"—",tan(4) =—F7———=,csc(4) =", sec(4d) =—F————=, cot(4) =
i 6 6 36 —x° x 36 —x° ]
[ Ans.=[y=sin(0),2m L,[-1,1]] ] )]
Ans.2=[y=-4cos(0),2 m, 4,[-4,4]] N
. T )
Ans.3=|y= 60),—1,[-1,1 A
" [y sin( )’3’ - ]} [y =—cos(x) -3, cyan] o
Ans.4={y=4sin(3 e),%ﬁ, 4,[-4,4]} Ly=-2 Sin(zxif’ blackll| 2
; - gl 5 e ||
AnsS = Ans.5=[y:—6cos(;j, 107, 6,[-6,6]| |, Ans6 = 1 \ l
. 1T 11: [y:gcos@x),green} )(
Ans.6 = {y: ——sin(4 0) + ——,[—,— } -
2’5’15 5 ] nx :(
11[-11]] {y:“OS( 3 j_z’blue} )
Ans.7 = [ =— cos(6n6) o [—,—} B - £
34 474]] o
ey | :
Ans.8 =| y =—6 cos T -2,6,6,[-8,4] —(
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TrigonometryExercise Answers for No.9795

X

Ans]={sin(A)= 4 ,cos(A4) = 5;{1471 tan(A)—4 csc(A4) = ,sec(A)=M,cot(A)=§}, ,{L()}
{ 4 3 4 5 5 3} [ﬁ}

Ans2 = s1n(A)— cos(A)—— tan(A)— csc(A)— sec(A)— ,cot(4) = , —(
A3—_'A——_xz A= ()= L2 et 0 A) = cot(4) = |
ns —_sm( )= 3 , cos( )—3,tan( )= x ,esc(A4) = m sec( )—x,cot( )= o |

- — — N
Ans4 = sin(A)zL, cos(A):L tan(4) = csc(A)— ik sec(A)—ﬂ, cot(A):g
L q/4+x2 «/4+x 2 x
[ Ans.l=[y=cos(0),2m 1,[-1,1]1] | )

Ans.2 =[y=-2sin(0),2 m, 2, [-2,2]] N

Ans.3:{y:sin(49),£,1,[-1,1]} o 2

21 {y:—cos( j+2 black} )(

Ans.4 = [y ~6cos(50),—, 6, [-6, 6]} 2 A3 -

S (mx o

[y =" sm(—j +4, red} )

Ans5=|  Ans.5 [ 4cos( j6n,4,[-4,4]} , Ans6 = 25 3 -

1746 [y=—sin(2nx),green} )(

Ans.6 = {y:—cos(66)+l ——{—,—ﬂ 2 e

5 3’5155 [y=—cos(x)—2,cyan] o

Ans.7=[y=—3 cos(670), 7 3,[-3,3]} - [y="3 cos(2x), blue] ] l(

1 n0 11-9-7 )

Ans.8 = y=—ZcosT —2,6,1, 14 —(

[Page 0010]
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TrigonometryExercise Answers for No.9839

5 7 5 84/ 15 8 7415 :
Ansl ={sin(A)=T, cos(A)=§, tan(4)=—""——" - ,csc(4) = sec(A)— ,cot(4) = 15 }, ,{C}
3 7 347 4 4417 7 :
AnsZ:{sin(A):—, cos(Ad)="",tan(4) = [ csc(A)— ,sec(4) = [,cot(A):Ll ,{ﬂ}
4 4 7 7 3 o
ans3 = sin) =5 cos() = T oty = s = seet) = ot ) = 2T
ns3 =| sin(A4)=—,cos(4) = ,tan(4) =—F——, csc(4) =", sec —F—,C0 =
] 49 - x° A 49 - x
Ansd = sm(A) —F—,c08(4)="F——"—,tan(4) =— csc(A)—— sec(Ad)=—""— cot(A) =
A/ X +36 Al X436 X
[ Ans.=[y=cos(0),2m 1,[-1,1]] | )
Ans.2=[y=-4sin(0),2 n, 4, [-4,4]] o
T - - :
Ans.3={y:cos(69),—,1,[-1,1] 3 )
3 y=-=sin(2 wx)+2, green o
27 2 )
Ans.4=| y=6sin(50),—, 6,[-6, 6] 3 ua
5 y=3 cos(2 x), blue o(
0 .
AnsS = Ans.5={y=—4 Sin(_jﬁn, 4, [-4,4]} , Ans6 = TX , 2
3 y=-2cos| — |, red o
I 2n 1[9 11 3 B
Ans.6=|y="sin(50)+5,—, | . 5 X -
2 572122 y==cos| — |- 3, cyan o
p 7[ ! 4911[_11}} SN )
ns. y= 2s1n( n0) > 55 L [y=sin(x)+ 1, black] o
(mO Y,
Ans.8 =| y=-3 sin ? +4,12,3,[1,7] —(
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TrigonometryExercise Answers for No.9843

Ansl = {sin(A) = ! f, cos(4) = ¢ f, tan(A4) =%, csc(A4) =@, sec(A4) = Jg, cot(A) =g}, , {L()}
Ans2 = {sin(A) = 5 f, cos(4) = s ?, tan(A4) :g, csc(A4) = J?, sec(4) = & ,cot(4) = g}, , {L()}

_ 4 A X -16 4 x x A X =16
Ans3 =|sin(A)=",cos8(A)=—",tan(4d)=—F7———=,csc(4d)=",sec(4d) =—F——,cot(4 ) =—
I X * A X -16 4 A X -16 4]
anst = sin() =P oy =2 tany = B ey -2 ()=, cot(4) ==
nsd=|sin(d)=—"—""",cos(4d)=",tan(4d)=———-—,csc(4d) =—F——,sec(4) =", co =
I X x 5 Ax* =25 5 Xt =25 |
_ ]
Ans. 1 =[y=cos(0),2m, 1,[-1,1]] _(
Ans.2 =[y=-5sin(0),2 w, 5,[-5,5]] )
Ans.3=[y=cos(20), 7, 1,[-1,1]] T 1 TX 11 =
- yzgcos —— |—2,cyan N
Ans.4={y=—4sin(66),—,4,[-4,4]} 3 )
3 [y=cos(x)+3, red] —(
0 1 X :
Ans.5:[ =-6 cos(—j,6n, 6,[-6,6 } { =—"si (—j bl } :
AnsS = Y 3 [ ] R Ans6 = Y 2 st 3 e , l
, 6{ Lo 431[-1_7-1_5}} x ¢
ns.6 = y—4005( ) 3wl 4 4 y=-3cos 3 — 3, green 2)
Ans.7 { L os(2m0 1l{ilﬂ (nx i«
ns./=|1y= 3COS( n0), 31373 I y=-2sin 5 , black | :)
o :(
AnS.8: y:—4COS T _396949 [_751] l
L - L ( |
RECRE R IZR D 0/0:0:0:0:0:0:0:0:0:0:0:0.0.0:0:0.:0:0:0.0:0:0:0.0.0:0.0.:0.0:0:0.0.0.0.0.0:0.0.0.0:0.0.0.:0.:0.0.0.0:0.0.0.0:0.0:0:0.0:0.0.0.0.0.0.0.0.0.0:0:0.0.0.:0.0.:0.:0:0:0.0.0.0.0.0.0.0.0.0:0.0.0.0:0.0:0.0.0.0.0'4

X
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TrigonometryExercise Answers for No.9854

Ans]=[sin(A)=u cos(A)—3 tan(4)=—"" 2710 csc(A)—u sec(A)—7 cot(A)_ﬂl ,[ﬂ
3 20 20 o
AnsZ_[sm(A)—3 cos(A)—2 O,tan(A):3 10 csc(A)—7 sec(A)—ﬂ, cot(A):ﬂ}, ,[ﬂ
20 20 3 o
ns —_sm( )—x,cos( )= B ,tan(A4) = x2_4 ,csc(4) = sec( )= m,cot( )= 2
ns —_sm( )= B , cos( )—x,tan( )= 3 , esc( )—m,sec( )—3,cot( )= 2 5
[ Ansi=[y=cos(0),2m 1,[-1,1]] ] )]
Ans.2=[y=6sin(0),2 m, 6,[-6,6]] (
Ans.3:{y=cos(6 9),%, L[-1, 1]} | [y=sin(x) -2, cyan] l(
Ans.4=[y:—5005(46),§,5,[-5,5]} { :_Sln( ] 4’”4 l(
Anss = Ans.5=[y=—3 sin(%j, 10 n,3,[-3,3]} , Ans6 = { T COS( jblue} ) l(
1 2n 1[-53 _ 2 4, }
Ans.az[yzzsm(s e)_l’Tn’Z’h’Zﬂ [y Sm[ 3 j+ green l(
Ans.7={y=—5 sin(%ej, 6, 5,[-5,5]} [ ==, cos(2mx), bl‘wk} | l(
A8—[—l'29 211[22}} l
Ans8=|y="gsm@n0)+2 L5 &7 Lo

X [Page 0013]

|
|

),0:9:0.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:0.0:9:9.0:9:9.0:9:9.0:9.:9.0:0:9.0:0:9.0:0:0.0:9:9.0:9:9.0:9:9.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:9:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0.:9.0:0:¢
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TrigonometryExercise Answers for No.9862

X

[Page

s , tan(A)=%, csc(A)=%, sec(4) = 7!;?, cot(4) = E}, ,{C}

Dt [

4
Ansl = {sin(A) = ;, cos(4) =

Ans2 = {sin(A) =

77 2
,cos(A)zg,tan(A)z 5 ,csc(A) = ,sec(A):E,cot(A): _— o
_ x 4 x A+ 16 AP+ 16 4
Ans3 =| sin(4d) =—F————,co8(4d)=—F7————,tan(4) =", csc(4d)=—"",sec(4d)=—"—,cot(4)=—"
Ax+16 Ax+16 4 X 4 X
, 1 x 1 ; A1+x
Ansd =| sin(A) ==, cos8(4)=—F———=,tan(4) =", csc(Ad) =4/ 1 +x",sec(4d)=—""",cot(4) =x
A1+x A1 +x X X
2
[ Ans.1=[y=cos(0),2m 1,[-1,1]] ] o
Ans.2=[y=5sin(0),2m,5,[-5,5]] :)
Ans.3:[yzsin(6 e)’g’l’[_l’l] [y=1—51n(?;)—2, black] )(
Ans.4=[y="5cos(20),m5,[-5,5]] {yism@ -2 cya”} o
ams=| - ams=ly=ganeonng| 33| | awo| [s-feof Fome] || 2
nss = ns.S=|y= 3sm( ),n,3, 373 ] , Ans6 = y=2cos 3 , blue , o
0 - )
Ans.6:[y:—3 sin(;)+l,4n,3,[-2,4]} Ly 32cosgt2xx),green] l(
Ans.7 =[y=-3 cos(2 7 0), 1,3, [-3,3]] _[y:i Sm(_J =3 redl )
1 (=6 1[-21 -19 Y
Ans.8=|y=—"sinl— |-5,4,—,| — — '
L 4 2 41 4 4 1] 2)
L o

(VIONRIY1D:9:9:9:9:9:9:9:0:0:0.0:0.0.0.9.0.0.0.0:0.0.0.0.0.0.0.9.0.9.9.9:0:0:0:0:0:0:0:0:0:0.0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0.:0:0:0:0.0.:0.0.9.9.:9.:0.0.0.:0.:0.9.0.0.9.0:0.0.0.9.9.0.0.0.0.0.0.0.0.0.0.0.0:4
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TrigonometryExercise Answers for No.10278

X

[Page

7485 6 85 |85 71 [y
p - ,cot(A)=g, N e

,tan(4) =;, csc(A4) = ,sec(A4) = (

Lon-tounE] [

. ,sec(A):g, cot(A4) = . "

,cos(A4) =

6
Ansl = {sin(A) =" g5 g5

| 7 3 7
Ans2 =| sin(4) = T, cos(4) = Z’ tan(A4) = T, csc(A) =

/36 — X /36 — X
X

X
p ,cos(A4) = g, tan(4) =

6 6 X
,cs¢(A)=""TF————=,sec(4d)=",cot(4) = —}
A36—x° x 36 -7

Ans3 = { sin(4) =

, 1 x 1 ; A1+x
Ansd =| sin(A) ==, cos8(4)=—F———=,tan(4) =", csc(Ad) =4/ 1 +x",sec(4d)=—""",cot(4) =x
f\/l+x2 «/1+x2 X X
[ Ans.d=[y=cos(8),2m 1,[-1,1]] ] )
Ans.2=[y=5sin(0),2 m, 5, [-5,5]] N
T - N
Ans.3 :[y:cos(6 0), ;, L [-1,1] [y=cos(x)—3, green] l
21 [—3'(HJ 2, bl k} )
Ans.4:{y:6cos(56),?,6,[-6,6]} YET N, T e 2
s 1] | | boedom] |
Anss = Ans.5=[y=—cos(29),TE,_,[_,_H , Ans6 = y=—2sm o pran A 2
6 6L6°6 5 o
0 2 ,
Ans.6:[y:6sin(zj_1,47[,6’[_7’5]} |:y 2COS(2X)+4,7"€d:| _)(
5 .
1 __= )
Ans.7=[y=—4cos(6n6),g,4,[-4,4]} I [y 5 cos(Zmx), bl”e} | l(
[ ! (nej 1[24}} )
Ans.8=|y=——cos| — [+ 1,10,=,| =, = -
L 3 5 3L3 341] L

(V10NN 1D:9:9:9:9:9:9.:9.:9.:9.:9.9.9.9.9.9.0.0.0.0:0.0.0.0.0.0.0.9:0.0.9:9:0:0:0:0:0:0:0:0:0:0.0:0:0:0:0:0:0:0:0:0:0:0:0:0.:0:0:0:0:0:0.:0:0:0:0:0.:0.0.9.9.:9.:0.0.:0.:0.:0.0.0.0.9.9:0.0.0.0.9.0.0.0.0.0.0.0.9.0.0.0.0.4
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TrigonometryExercise Answers for No.10361

5 7474 5 N74 Al 74 7 :
Ansl ={sin(A)= ,cos(A4) = tan(A)— ,csc(4) = ,sec(A4) = ,cot(A4) =—}, ,{ﬂ}
74 5 7 5 o
7 8 7 9417 9 84/ 17 :
Ans2 = {sin(A) = ,co8(A4) = 5, tan(4) = ,csc(A) = 17 ,sec(4) = cot(A) =" 7 }, , { C}
_ —x x /36 — X 6 6 X
Ans3 =| sin(A4) = ,cos(Ad)=",tan(4)=—""",¢csc(4d) =—F————=,sec(4d) =", cot(4) =—F——
I 6 6 % 36 —x° x 236 x|
. 7 Axr-49 A X — 49
Ans4d =| sin(4)="—",cos(A)=—""_ tan(A) ——,cs¢(4)=" sec(A) T, cot(4) ="
i x f\/x — 49 f\/x — 49 7]
[ Ans.I=[y=cos(0),2m1,[-1,1]] ] )
Ans.2=[y=-2sin(0),2 m, 2, [-2,2]] o
. :
Ans.3:{y:sin(6 0)—, 1,[-1, 1]} - . )
3 3 o
' 2 y= ECOS 5 , black )
Ans.4 =| y=-2sin(5 6),T, 2,[-2,2] —(
T :
s s { Lo Lﬂl[ilﬂ ) {y 35‘“@)“‘4 )
nss = ns.y=|y= 2cos( ), FREDSY IS , Ans6 = . ) o
0 y=-3cos| — |—2,cyan )
Ans.6:[y:—5 sin(—)+1,4n,5,[-4,6]} N3 2
2 [y =-sin(x) — 2, green] o
1 21 (-11 =2 sin(2 -3, red :
Ans.7 = [y—— cos(5m0),—,~ [—,—H Hy=2sin2mx) =3 red] ] )
6 56L6°6 o
o )
Ans.8 =| y =—4 cos ? -2,12,4,[-6,2] —(
[Page = 0016] KKK KKK XK XXX XXX X XXX KKK KKK K KKK KKK KKK KKK KKK KKK XK XXX XXX KX XK KKK KKK KKK KKKKK
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TrigonometryExercise Answers for No.10532
64/ 13 A
13 b 2

) 13 6 4/ 13 7413 7
Ansl =|sin(4)=—"—"—",cos(4d)=_",tan(A4) = T’ csc(A4) = ,sec(4) = g, cot(4) =

7 7 o
A 2—{' A—g A—it A—é A—§ A—é tA—i} [ﬂ}
nsz = Sll’l( )_5: COS( )_5: an( )_4: CSC( )_3: SCC( )_47 CO( )_3 9 5 (
_ 4 X 4 A+ 16 AP+ 16 x
Ans3 =| sin(4d) =—F———,co8(4d)=—F7———,tan(4d)=",csc(4d) =" ,sec(4d)=—",cot(4)=—""
j A+ 16 N2+ 16 x 4 % 4
, x 6 x Al X+ 36 A/ X+ 36 6
Ans4 =|sin(d)=—F7———,cos(d)=—F——,tan(4d) =", csc(4d)=—,sec(d)=—"",cot(4)=—
j A +36 AP+ 36 6 x 6 X
Ty
Ans. I =[y=sin(0),2w, 1,[-1, 1]] _(
Ans.2=[y=-2cos(0),2m,2,[-2,2]] '_)
- A
Ans.3={ =cos(60), —, 1,[-1,1 - :
4 (69) 3 [ ) [y=3sin(2ntx), red] )(
Ans.4=[y=—-6sin(20), w, 6,[-6,6]] 1 X -
0 y=_sin| — |+4, cyan N
Ans.5:{y:4sin(—j,6n, 4,[-4,4]} 2 \3 )
Ans5 = 3 , Ans6 = [y=cos(x)—1,green] |, —(
1 2n 1|13 =-3 2 -2, black ’
Ans.6:[y:——cos(59)+1,—,—,{—,—H ly="3cos(amx) =2, black]} | )
2 52122 1 (x L
) y:—g sin ; , blue o
Ans.7={y:—2cos(3n9),g,2,[-2,2]} - - 2)
1 (n6 111 13 :(
Ans.8=| y=—"sin| —/ |+3,10,—,| —,— 2)
L 4 5 414 4 1] _(

X [Page = 0017] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKKXKKKXXXXXK KKK KKK KKK K KKK LKL XXX XXX XKKKX
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TrigonometryExercise Answers for No.10688

Ans]-{sm(A)—7 cos(4) = S,tan(A)—7 > csc(A)—8 sec(A)—8 5,cot(A)=J;75}, ,{C}
AnSZ:{sin(A):7;3/5575,003(14):6!575t (A)—7 csc(A) = ,sec(A):ﬁ,cot(A):g}, ,{L()}

7 q/ A/ 49 + X 7

Ans3 = sm(A =—F——=,¢c08(4) =", tan(4) = csc(A) = ,sec(A)=—""—""",cot(4)="—"

4/49+x 49+ 7 x ]

st = sin) = L5 sty = tan(a) = L5 ety - (4) =, cot(4) =———

=| sin = , COS = an =—  ,CSC , S€C =",CO =
" i x 4/ x 36 —x°
[ AnsI=[y=sin(0),27,1,[-1,1]] ] )
Ans.2=[y=-3cos(0),2m, 3,[-3,3]] N
2 - - 2)
Ans.3=|y=cos(30),—/—, 1I,[-1,1] 5 X —
3 =—cos| — |- 3, red A
R ]| 2
Ans.4=|y=6cos(40),—,6,[-6,6] X -
4 (495 [ y=22 sin[—j 4, black} Y
s A5[ 1 (39)2n1{11ﬂ s 1 2 )
nsH = ns.o = =-—"sin B S nsé = TX -
776 3761676 {y :—cos(—j, cyan} o
0 2 2 )
Ans.6=| y=—4sin| — |+ 1,127, 4,[-3,5] 3 X -
6 y=—_sin| |, green A
(O 2 2 2)
Ans.7 =| y=—6sin T ,8,6,[-6,6] L [y=sin(x)—1, blue] —(
1 21[-6 -4 )
Ans.8=|y=——"cos(3n0O)-1,,-,| =, = -
| 5 35055 Lo
(VIONRSHIND'9.0:0.0:9.0.0.0.:0.0.0.0:0.0:0.0.0.9:0.9:0.9:0.0.0.0.0.:9.0.0.0.0.0.:0.0.0.0.0.0.9.0.9.0.9.0:0.0:0.0:0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.9.0.0.0.0:0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.¢
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TrigonometryExercise Answers for No.10868
7474 5 74 74 7 o
74 5 7 otA=5

,tan(4) = csc(A) = ,sec(A4) = (

L LA e 15] 12

,tan(A)zT,csc(A)z ec(d) =", cot(4) = (

Ansl = {sin(A) = > ,cos(A4) =

Ans2 = [ sin(4) = 2 cos(A) =

2
X

1 -1
Ans3 = { sin(d)=—",cos(4d)=—"",
X X

tan(4) = ﬁ, csc(A)=x,sec(A4d) = F cot(4) = X - ]
[ 2 [ 2
Ans4 =| sin(A4) = L, cos(4) = ;, tan(4) = ﬁ, csc(A4) = x——|-9’ sec(A4) = x——|-9’ cot(4) = 2
X +9 X +9 3 X 3 X

7 0
Ans.8 =[y =-06 cos[TJ -3,8,6,[-9, 3]}

X [Page = 0019] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKKKKXKKKXXXXXK KKK KKK KKK LK LKL KKK XXX XXX KKKX

Ans. ] =[y=sin(0),2m, 1,[-1,1]] 2
Ans.2=[y=—-6cos(0),2 m, 6,[-6,6]] N

. m )

Ans.3=|y= — 1L, [-1,1 - -1 =

" [y sm(66),3, L ]} [y=-2cos(2tx)+2,blue] N
Ans.4=[y=—3 cos(60), §,3, [—3,3]} {y 3 cos(2x)—2, black} l(

e .

AnsS = Ans.5=[y:2cos(gj, 12 m, 2, [-2,2]} , Ans6 = { —sm( ]green} , l(
Ans.6 = {y—§c05(4 0)- ;%’[%’%H _CIOS(X):)? vand _)
[y == sin(—j, red} o

Ans 7=[y:—lcos(2n9) 1 L [i lﬂ - 2 2 2

' 3 © 731373 o

2

N
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TrigonometryExercise Answers for No.10900

Ansl = sm(A)—8 cos(4) = 7,tan(A)— i 177 csc(A)—9 sec(A)—gﬁ,cot(A)=T}, ,{C

Ans2 =| sin(4) = & gj?, cos(4) = ! gf?, tan(A4) :3, csc(A4) = ,sec(A4) = «/575, cot(4) = %}, , {L()
B N -4 2 N -4 x 2]

Ans3 = _ sin(4) = T, cos(4) = ;, tan(4) = T, csc(A4) = ﬁ sec(A4) = cot(A) ﬁ_

A -16
X

Ans.l =[y=sin(0),2 w, 1, [-1,1]]
Ans.2=[y=-3cos(0),2m, 3,[-3,3]]

4
Ansd = { sin(4)="—",cos(4) =
X

) 27
Ans.3 =[y: sin(5 0), T’ L [-1,1]
2n
Ans.4:{y:—3 cos(59), T, 3,[-3, 3]}

0
Ans5 = Ans.5 :{y =3 COS(E), 4m,3,[-3, 3]}

ﬂl{ﬁﬁﬂ
3’31373

1 1 1]-11
Ans.7 = y——Scos(6Tc6)gg g,g

1
Ans.6={y:§sin(6 0)-5

0
Ans.8={y= -6 COS(T] -3,10,6,[-9, 3]}

[Page = 0020]

4 X X
,tan(A4) =—F7————,csc(4)=",sec(4d) =", cot(4) =
AX-16 4 AX*-16 4

A =-16

== cos(2 X), cyan}

=
o]

1
[ :—2 sin(2 x) —4, black}

se{)or ]

[y=cos(x)—3, green|

Ans6 =

N AN N e N L

),0:9:0.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:0.0:9:9.0:9:9.0:9:9.0:9.:9.0:0:9.0:0:9.0:0:0.0:9:9.0:9:9.0:9:9.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:9:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0.:9.0:0:¢
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TrigonometryExercise Answers for No.11693
442 942 9 7ﬁ} [ﬁ}
7 8 > b

,csc(A) = ,sec(A) = COt(A) =g (

o

4 3 5 5 4
Ans2 = {sm(A)— cos(A)—— tan(A)— csc(A)— ,sec(A4) = r cot(A):g}, ,[ (

AP+ 16 4]
4

[ 442 7
Ansl =| sin(A4) = ,cos(4)=" tan(A) =

cot(4) =

Ans3 = sm(A) = m cos(4) = ﬁ tan(4) = csc(A) = sec( ) =", ;
X+ X+ .
4/ 236 - X

Ans4 =| sin(A4) = ,cos(A4) = tan(A )= T, csc(A4) = sec(A )= g, cot(4) =

i 36— x* |
. )
Ans. 1 =[y=sin(0),2m, 1,[-1,1]]
Ans.2=[y=2cos(0),2m, 2,[-2,2]] (
Ans.3=[y=sin(20),w, 1,[-1,1]] 2
I 2_7: I 1 (nx | (
Ans.4=|y=3sin(50), 5 ,3,[-3,3] y:_ESIHT — 4, cyan 2)
Ans.5 = [y— lcos(S 0), 2_n 1 {i’lﬂ [y=2sin(2x)—2, green| )(
Ans5 = 2 5721272 , Ans6 = [y=3sin(2x), blue] |, —(
Ans.6=[y=—3 cos(%j— 1,123, [-4,2]} [yzcos(x)_ni; black] Bl
[ y=-3 cos(—], red } (
e i 3 J
Ans.7:[y =-5 cos(Tj, 4,5, [-5, 5]} l
1 2 1[19 21 (
Ans.8 = y——ssm(3n6)+4§g ?,? 2)
L | ]
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TrigonometryExercise Answers for No.12097

I 2413 3413 2 13 13 3
Ansl =| sin(A4) = ,cos(A4) = ,tan(4)=_,csc(4d)="""_",sec(4) = ,cot(4) = —}, , {—
13 13 3 2 3 2 (

[ 84/73 3473 8 J73 73 3}’ {

Ans2 =| sin(A) =737, cos(d) =7 tan(A) =3, eso(d) =T see(d) =T cot(A) =4[ T
Ans3 =| sin(4) ==, cos(4) = tan(4) =~ ose(4) =, sec(A ) =~ cot(4) = L
ns —_sm —x,cos =T , tan = xz_g,csc —3,sec = xz_g,co = 5

Ans4 { sin(4) =4/ 1 : cos(A4) tan(4) eh csc(A4) 1 sec(A4) 1 cot(A4) Z ]
ns4 = = — X , :x, :—’ :—, :_’ =T —
X A1=x x A1-x

| Ans.I=[y=sin(0),2m, 1,[-1,1]] )
Ans.2=[y=—-6cos(0),2m, 6,[-6,6]] N
T _ - 2)
Ans.3=[ —sin(40),— 1,[-1, 1 } 1 =
Y ( )2 [ ] [yz—sin(ﬂj, black} o
y 4[ 4'(59)”4[44]} L )
ns.4=| y=—4sin , 4[4, L
Y 5 [y =3 COS(HJ +4, blue} A
y 5_[ L o4 0 El[ilﬂ 3 )
Ans5 = ns.3=|y=-3 cos( ),2,3, 373 , Ans6 = [y:—3c0s(x))c—2,green] I
0 2 X .
Ans.6:[y:55in(zj+1,47:,5,[-4,6]} [y 2sm[2J+2’red} l(
1 X ’
1 _ L x .
Ans.7:[y:—3 sin(4n6),5,3,[-3,3]} i [y 28“{3}’0””} ] l(
[ 1 (n@] 1[24 26H :-)
Ans.8=|y=——"cos| —/ |+5,4,-,| — — -
i 5 2 sLs sl L
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TrigonometryExercise Answers for No.12172
5./41 4 a1 J41 5 o
41 4 s coD=7 LT

4
Ansl = {sin(A) =

,cos(A4) = ,tan(4) = g, csc(A4) = ,sec(A4) = (
Ans2 =| sin(4) = §, cos(4) = ﬁ, tan(4) = @, csc(A4) = 2, sec(4) = ﬂ, cot(4) = ﬁ , ﬁ
9 9 17 8 17 8 N

2
X

—VX_I’ tan(A):ﬁ, csc(A4) =x, SCC(A)zﬁ, cot(A4) = /x2_ 1 ]

1
Ans3 = { sin(4)="—",cos(4) =
X

I

) A/ X -9 3 A/ ¥ -9 X X 3
Ansd =| sin(A)=—"—"—,cos(4d)=",tan(4d) ==, csc(4d) =—F—,sec(4d) =T, cot(4) =—F7——
x x 3 P-9 3 x'=9

(mO
Ans.8=[y=—5 sm[TJ—4, 4,5,[-9, 1]}

X [Page = 0023] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXXXKXKKXKKKXXXXX KKK KKK KKK LKL KL LR LXK XX XXX KKX

Ans.1 =[y=cos(0),2m, 1,[-1,1]] 2
Ans.2=[y=4sin(0),2 m, 4,[-4,4]] :(
i - - 2)

Ans.3=[ =sin(40),—, 1,[-1,1 5 —

Y ( )2 [ | [y:—sin(2x),black} A

2n 2 J
Ans.4=|y=—4cos(50),—4,[-4, 4] 3 X -
5 y="sin| — | -4, green o

P 5_[ IR Lﬂl[ilﬂ ) - )
Anss = ns.5 = y—4COS( ), s 2l a2 , Ans6 = [y:—écos(ﬂ)—?’,cyan}’ Y
0 2 2 )

Ans.6={y:4 cos(;j +3,10m, 4, [-1, 7]} [y=—cos(x)+ 1, blue] —
1 21[-11 { 1 (”) d} )(

o 22|12 = y=—_cos| . | re N

Ans.7=| y=— -
ns {y 2s1n(5n9),5,2,[2,2ﬂ L 2 2 i (
)

A
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TrigonometryExercise Answers for No.12173

{ 2 7 2
Ansl =| sin(4) = cos(A) = ,tan(A4) =

7 9
—_—,csc(4d) = 5’ sec(4) =

,cot(4)=

77

2

I

|

o

4 3 4 5 5 3
Ans2 = {sm(A)— cos(A)—— tan(4) =", csc(A)—4 sec(A)— ,cot(4d)=" } ,[ v

2

2

X

[Page

0024]

. NO—x _x _N9—x 3 3 _

Ans3=_sm(A)— 3 ,cos(A4) = 3,tam(A)— M csc(A4) = m sec(A4) = K cot(4) = o
- X 3 ’\/x +9 X +9 3
Ans4d =| sin(A) ==, cos(4) =—F7—, tan(4) = csc(A)— ,sec(A)=—"""",cot(4)=—"
L ’\/x2+9 /\/x2+9 3 X

Ans. 1 =[y=sin(0),2w, 1,[-1,1]] l

Ans.2 =[y=-5cos(0),2m 5,[-5, 5]] i . )(

Ans.3:{y=cos(4 9),%, 1,[-1,1] {y:%cos(?jJrL cyan} _(

Ans.4=[y=-3cos(20),m 3,[-3,3]] 5 (mx 2

g3 e Sl )2 g |

Ans.5=| y=_"cos(20), «, 2)

Ans5 = 3 3’3 , Ans6 = 1 -

0 {yzgsm@x), red} A

Ans.6:{y=—6 COS(EJ—L‘I-?I, 6,[-7,5]} l

1 [y——S cos[7T j blue} N

Ans.7=[y=—5 cos(6 7 0), =, 5,[-5,5]} 2 )

3 L [y=cos(x)+ 2, black] -

{ 1 (nej 1 [-16 -14H :(

Ans.8=|y=—"cos| — |-58, | /-, 2)

L 3 4 3L 37 3 ] —(

),0:9:0.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:0.0:9:9.0:9:9.0:9:9.0:9.:9.0:0:9.0:0:9.0:0:0.0:9:9.0:9:9.0:9:9.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:9:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0.:9.0:0:¢




X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXXXXKXXKXXKXXKXX KX KXKX KX XXXX KX KXXKXXKXXKXXXKXXKXKXXME /1-6400302-00025XX
TrigonometryExercise Answers for No.12180

o

44f65 7«/5 4 «/5 JE 7} {ﬁ}
,sec(Ad)=—"—"— , cot(4) = | T

,cos8(A4) = ,tan(4)=—",csc(4) =
65 65 7 (

Ans3 —{sm(A) 4/7 cos(4) = «/7 tan(4) = csc(A) = sec( )=—"",cot(4) = }

X"+ 16 X +16

Anst = sin(4) = x, cos(4) = 1~ 2, tan(4) =~ cse(A) =, sec(4) =A==, cot(4) =\
ns4 =| sin(4)=x, cos(4) = —x", tan( )—ﬁ,csc( )—x,sec( )—ﬁ,co( )=

{ 3 4 3 5 5 4} [
Ansl =| sin(4) = cos(A) =" tan(A) = csc(A) = sec(A) = cot(A) =—1 ,

Ans2 = {sin(A) =

|
=
N8}
[

I —x 1 —x
[ Ans.I=[y=cos(0),2m 1,[-1,1]] | i 1
Ans.2=[y=-6sin(0),2 m, 6,[-6, 6]]
2n
Ans.3=[ =cos(50),—, 1,[-1,1 _
4 (>9) 5 [ ] [y=3sin(2x) -3, blue]
) 2n 3 X
Ans.4=|y=3sin(5 9),7,3, [-3,3] y=-cos ; , green
1 n l]|-11 =—cos(x) -3, red
Anss = Ans.5:{y=ECOS(4 6),;,5,[3,5}} , Ans6 = Ly (x) ] ,

X
0 y=-2 sin(T] + 4, black}
Ans.6 = {y =-2 cos(gj -4,10m, 2, [-6, -2]}

1 2 1(-11
Ans.7 = y——2s1n(5n6)g5 E,E

3
{yzgsin(Z TX), cyan}

o
Ans.8 :[y =-6 sin(T] +2,10,6,[-4, 8]}
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TrigonometryExercise Answers for No.12256

5 8
,sec(4) = cot(A) =

me] [
15 Lo«
ﬂ}
V : / 2
Ans3 = { sin(A4) = E, cos(4) = ﬂ, tan(4) = L, csc(4) = i, sec(A4) = — ,cot(A) = N0ty }
o X A =36+ Al =36+ x* 6
Ans4—{sm(A) m cos(4) = m tan(A)—— csc(A)=—""" sec( y=——""—, cot(4d) =" }

) 15 7 15 8
Ansl =|sin(4)=—"" g cos(A)— ,tan(A4) = - ———,cs¢(4) =

{ 3 4 3 5 5 4} [
Ans2 =| sin(4) = cos(A) =" tan(A) = csc(A) = sec(A) = cot(A) = ,

1

Ans.1=[y=cos(0),2m 1,[-1,1]] ]
Ans.2=[y=6sin(0),2 m, 6,[-6,6]]
Ans.3=[y=cos(20),m, 1,[-1,1]] i 3 ]
2 y=_sin(2 nx), blue
Ans.4=[y=6sin(5 9),7,6,[-6,6]} 52
1 ox 10-11 [y:——cos(2x)+2,green}
sy Lo 22111 :
Ans5 = 5 3L33 , Ans6 = 5 ,
yzgcos(2nx)—2,cyan

0
Ans.6:{y=—2 cos(gj—4, 10 &, 2, [ -6, -2]} |
{y =Esin(2 X), red}
[y =—cos(x) — 3, black]

)
Ans.7:[y =—4 COS[TJ, 4,4,[-4, 4]}

1 21|-16 -14
Ans.8 = y——3s1n(5n6) Sgg ??

N AN N e N L

(V102N 1D:9:9:9:9:9:9.:9.:9.:9.:9.9.9.9.9.9.0.0.0.0:0.0.0.0.0.0.0.9:0.0:9.9:0:0:0:0:0:0:0:0:0:0.0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0.:0:0:0:0:0.:0.0.9.9.9.:0.0.0.:0.:0.0.0.0.9.9:0.0.9.9.9.0.0.0.0.0.0.0.9.0.0.0.0.4
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TrigonometryExercise Answers for No.12278
7415 A
b 2

15 o«

N3

3 4 3 5 5
Ans2 = {sm(A) =—,c08(A4) =" tan(A) = csc(A) = sec(A) = cot(A) _5 >

) 15 7 15 8415 8
Ansl =|sin(4)=—"" g cos(A)— ,tan(A4) = - ———,cs¢(4) = sec(A)— ,cot(4) =

25— X 5 5 A 25 —x°
Ans3 =| sin(A4) = cos(A) = tan(4d)=—F7———=,cs¢(4)=",sec(d)=—F——=,cot(4d)=—"""—
i S 25-x x 25 -x ]
x A 49 - x° x 7 7 A 49 —x°
Ans4d =|sin(4d)="—_,cos(4d)=—"_ L tan(d)=—F——=,csc(4d)=",sec(d) =—F——,cot(4d)=—"—
I 7 7 49 — 2 x 49 — * o
[ Ans.i=[y=sin(0),2m 1,[-1,1]] ] )]
Ans.2=[y=-6cos(0),2m, 6,[-6,6]] N
T - - :
Ans.3:[y=cos(49),_,1,[-1,1]} X -
2 y=-3sin ; + 3, green o
- :
Ans.4=[y=6sin(46),—,6,[-6,6]} 5 2
2 y=-; cos(2 1 x), blue o
0 .
AnsS = Ans.5:[y=—6cos(—j,4n, 6,[-6,6]} , Ans6 = TX , 2
2 y=2cos| —— |-2,cyan o
| 6_[ I 32_ﬁl[£ﬂﬂ e red )
ns.6 = y—6sm( )—3, 36l 67 6 [y_zm(x)+ red | y
0 — :
Ans.7:[y=—4 sin(%), 4, 4,[-4,4]} I [y 2003(3j bl‘wk} | l(
1 2 11]-21 -19 2)
Ans.8 = y—— sin(3n0)-5,-,—,| — -
i 34 47 4 |1 L (]

DGR ETe [SHE RN VIOV E D19:0:0:0:0:0:0:0:0:9:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0.0.:0.0.:0:0.:0.0.0.0.0.9:0.0:9.0.9.9.0:9:0.0.9:0.9.9.9.9.9.9.0.0.9.0.9.9.9.9.9.0.0.9.9.9.9.9.9.9.9.9.9.9.9.9:0.9.9:0.9.9.9.0.9.0.4
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TrigonometryExercise Answers for No.12482

X [Page =

0028]

{ 3 4 3 5 5 4} [
Ansl =| sin(4) = cos(A) =" tan(A) = csc(A) = sec(A) = cot(A) =—1 ,

Ans2 =

Ans3 =

4
Ansd = { sin(4)="—",cos(4) =
X

AnsS =

sin(4) =

sin(4) =

7 8
,co8(A4) = 5, tan(4) =

X -

,cos(A)=",tan(4) =
X
AX 16
X

Ans.l=[y=sin(0),2w, 1,[-1,1]]
Ans.2=[y=3cos(0),2m, 3,[-3,3]]

T
Ans.3:[y:cos(4 0), E’ L, [-1,1]
) 27
Ans.4:{y=—5 sin(3 0), T, 5,[-5, 5]}

1 1i-11
Ans.5 = y——6sm(26)n6 66

0
Ans.6:[y:4 sin(g) ~5127,4,[-9,-1 ]}

1 (n6 1-11
Ans.7 = y:—gsm7,4,g, ;,g

2
Ans.8={y=—4 sin(5m0)+ S,g, 4,11, 9]}

7
,csc(A) =

9 |
A -9 3 ¥ -9 x 30|
X 3

4 X
,tan(A):m csc(4)=—" sec(A) m, cot(4) = 1

&
LR

17 A

9
,sec(4) =

cot(A )=

9ﬁ
17

,csc(A)=ﬁ SeC(A)— ,cot(4) = ﬁ
X = x -9 |
«/xz—lﬂ

_[y =3cos(2mx)—4,cyan 11

3 (x
y=—_sin| |+ 4, black
2 3

[y=-sin(x) -1, red]

[ mx
[ y=3 sm(TJ, green}

| gl o]

Ans6 =

N

N N e e N L

),0:9:0.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:0.0:9:9.0:9:9.0:9:9.0:9.:9.0:0:9.0:0:9.0:0:0.0:9:9.0:9:9.0:9:9.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:9:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0.:9.0:0:¢
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TrigonometryExercise Answers for No.12586

Ansl = {sin(A) = @, cos(4) = %, tan(4) = 77, csc(A4) =

84/ 89 54/ 89 8 4/ 89 4/ 89 5 :
Ans2 = {sin(A) = ,cos8(A4) = ,tan(4) =", csc(4) = ,sec(A)=—""",cot(4) = —}, , {ﬂ}
89 89 5 8 5 8 o
_ x /36 — X x 6 6 A/ 36 —x°
Ans3 =|sin(4A)=",cos8(A)=—",tan(4d)=—F7————=,csc(4d)=",sec(4d) =—F——,cot(4)=——
L 6 6 A36—x X A/36—x° o
anst = sin() = P2 sy = tan) = PO ey = ooty = & oty ==
ns4d=|sin(Ad)=—""""",cos(4)=",tan(4) = ,cs¢(Ad)=—F——=,sec(4d)=",co =
L 6 6 /36 — X X A/ 36 —x* ]
[ Ans.I=[y=cos(0),2m 1,[-1,1]] | )]
Ans.2=[y=-5sin(0),2 m, 5, [-5,5]] o
) 27 2)
Ans.3=|y=sin(50),—, 1,[-1, 1] ~ - =
5 3 (x :(
- yz—Ecos ; , blue )
Ans.4:[y=4cos(6 0), 4, [-4,4]} -
3 mX !
0 7 y=-2cos 7 , green )
AnsS = Ans.5 :|:y =—4 Sin(_ja 12 T, 4a ['49 4] ’ Ans6 = . 5 -
6 J [y=3sin(2tx)—2, red] o
1 T 1|35 = si black :
Ans.6:[y:——cos(4 0)+2, =, {—,— } Ly =sin(x), black] 2
2 2’2[2°2] 3 2 %) 44 o
. > 101 1 i y-zcos( x)+4, cyvan | )
Ans.7 =|y=——sin(3 1 0), 7, | -
6 36L6 6] o
o )
Ans.8 =| y=-3 cos ? -5,12,3,[-8,-2] —(
[Page = 0029] KKK KKK XX XXX XXX XXX XXX X XXX K KKK KKK KKK KKK KKK KKK XK KKK XXX KKK KKK KKK KKK KKKKKK

X

347

447
7

7

4
,sec(4) = g, cot(4) = —}, , {

o

o«
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TrigonometryExercise Answers for No.12677

' 2414 5 2414 94/14 9 5414
Ansl =| sin(A4) = T cos(4) = tan(A) =75 > csc(A)=—"_—",sec(4) = cot(A) = T
Ans2 = [ sin(4) = z cos(A) = s f, tan(4) = 2 ;/Sg csc(A4) = ! sec(A) = %, cot(4) =

_ 7 —49 + x*
Ans3 =| sin(4)=",cos(4) =
X

Ans4—{sm(A) F cos(4) = F tan(4) =
X +9 X +9

Ans.l=[y=cos(0),2m, 1,[-1,1]]
Ans.2 =[y=-5sin(0),2m, 5,[-5,5]]

27
Ans.3 :{yzcos(S 0), T, 1,[-1,1]

2r
Ans.4={y= 3cos(50), T, 3,[-3, 3]}

Ans5 = 0
s Ans.5 = [y -2 sin(;j, 6m 2, [-2, 2]}

1
Ans.6=[y=—2 sin(50)+4,

1 0
Ans.7 = yz—gcos — ], 8,

1):
4 3
L Ans.8=[y=—-4cos(2m0O)—-2,1,4,]-

X [Page = 0030]

b

V)

o

¥ +9 ¥ +9

csc(A) = —x ,sec(A) = 3

y=3sin ) e
1
[y— —cos[ J+4 black}
2 2

, Ans6 =

e seod 5 e
y=- cosz, ue

. TE x 9
[y =-3 sm(Tj -2, cyan}

[y=sin(x)— 3, green|

7 X X
,tan(A4) = 7=, csc(4) = sec(A) =, c0t(4) =
A 49+ Al =49 + ¥

v

2
(
2
(
2
N
2
(
2
(
3
(
2

N

a

A 49 + x°

»

3
,cot(4) = ;}

),0:9:0.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:0.0:9:9.0:9:9.0:9:9.0:9.:9.0:0:9.0:0:9.0:0:0.0:9:9.0:9:9.0:9:9.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:9:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0.:9.0:0:¢
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TrigonometryExercise Answers for No.13490
2453 7 \/53 |53 2 o
5 ,cot(A)=; N

< ,cos(A4) = ,tan(4) = E’ csc(A)=""",sec(4) =

7
Ansl = {sin(A) =

53 53 7 o
Ans2 = {sin(A) = > f, cos(4) = 2 f, tan(A4) :g, csc(A4) = J?, sec(4) = «/579, cot(4) = %}, , {L()}

_ 6 A =36 +x° 6 x A =36 +x°
Ans3 =|sin(4A)=",cos8(A)=—",tan(4) =~ ¢csc(4) = sec(A) T, c0t(4)="" "
x X =36+ A/ =36 +x* 6

[1. .2 [1 2
Ans4 :{sin(A) = J16-x ,cos8(A4) = tan(A) = L, csc(A4) = L, sec(A4) = i, cot(A4) :;}
4 X 16 - x* x 16 — x°
[ Ansi=[y=sin(0),2m 1,[-1,1]] | )
Ans.2=[y=-5co0s(0),2m,5,[-5,5]] A
. T )
Ans.3=| y= 40),—, 1,[-1,1 o
" [y sn(49),5- L1, ]} [y = cos(x), black] o
2 .
Ans.4 = {y =5 008(360), 5,5, 51} {y - —% cos[%j ‘2, red} l(
Anss = Ans.5=[y:—3sin(gj,4n,3,[-3,3]} , Ans6 = [y=2531n(2x)+3,cyan] \ l
1 <1042 {y:—gsin@x),green} )(
Ans.6:[y:—gsin(4 0)-1, P [3 3 H Ty —(
|: 1 71 |:-l I:H i |:y_—3 Sln( > ] blue} | )
Ans.7=|y=—"sin(5710), -, —,| =~ -
4 54144 (
AS—[—S'[R—GJ385 28} 2
_ns.—y——Sll’l4+,,,[',]_ T
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TrigonometryExercise Answers for No.13500
7474 5 74 74 7 o
- ,cot(A)=g N

74 : COS(A) — 4 tan(A) = CSC(A) = s , SCC(A) = (

7 Lo 2]

sec(A)— ,cot(4) = - (

5
Ansl = {sin(A) =

7 2 7
Ans2 = {sin(A) = ,c08(A) = 5, tan(A4) = ,csc(4) =

[ 2
x -1 1 X 1
Ans3 ={sin(A) =————,cos(A)=",tan(A4) =~/ -1, csc(A) =—F7—,sec(4)=x, cot(A4) =—]
X X Ax =1 -1

x Al 25 — X x 5 5 Al 25 — X
Ansd =|sin(4d)=—",cos8(A)=—""",tan(4d)=—F7————=,csc(4d)=",sec(4d) =—F———,cot(4 ) ==
5 5 25 —x? X 25— x° X

w0
Ans.7=[y: -6 COS(TJ, 10, 6, [ -6, 6]}

1 1179
Ans.8 = y——zsln(6n6)+4—— VN

32122

| Ans.]=[y=cos(0),2m,1,[-1,1]] l
Ans.2=[y=-6sin(0),2, 6,[-6, 6]] )(
27 -

Ans.3=|y= 30),—, 1,[-1,1 :
" [y cos(3 ), 37 (1 [y =—cos(x), red] )(
Ans.4=[y=-4sin(20), 7, 4,[-4,4]] [y=2sin(2 mx)+2, black] —(

0 5 ’
g5 — Ans.5:[y:—3 cos(zj 47, 3,[-3, 3]} ' dns6= [y:gsin(%}, cyan} , 2
1 2n 113 5 (x o«
Ans.6 = y——2cos(3 0)+1, TE 5,5 y=—gcos ; , blue _)
L[y=-3cos(2x)—3, green]| )(
o
)
N
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Ansl = {sin(A) = %, cos(4) = ! 111313 tan(4) = 8 csc(A) = 1813 ,sec(A) =¥, cot(4) = %}, , {L()}

[ 8 J17 SW 9 9417 W} {ﬁ

Ans2 = s1n(A) = cos(A) = T tan(A4) = T, csc(A4) = g, sec(A) :T, cot(4) = 2

I [ 2 3 _
Ans3 =| sin(4) = %, cos(4) = xT—9, tan(A4) = % csc(A) = sec(A) + cot(A) = —Vx3_9
L x =9 Al x© —
Ans4 —{sm(A) W cos(4) = «/497 tan(A4) =" csc(A) = sec( )= ,cot(A) = }
+x +x

1  (n6 1]|-26 -24
Ans.8 = y:—gsmT —5,6,5, ??

X [Page = 0033] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKKKKKKKKXKXXXX KKK KKK KKK KKK KL LKL XXX XX XKKKX

Ans.l =[y=cos(0),2m, 1,[-1,1]] _)(
Ans.2 =[y=3sin(0),2 w, 3,[-3,3]] )

, 2n [ [y=—cos(x)—1,green] || =

Ans.3 =| y=sin(5 0), s , 1L [-1,1] 3 A
Ans.d=[y=-3sin(20), 73, [-3,3]] y=75sin(2mx)+4, blue _)(

0 :

s — Ans.5:[y=3cos(g), 10 &, 3, [-3,3]} ' Ans6 = [y 2sm( j+3,black} , :)
1 n1[-4-2 x o

Ans.6 = yz—gcos(46)—l,;,§, g,? y=—" cos[;j,red :)
2 X o

Ans.7:[y:—6 cos(3n6),§, 6,[-6,6]} {yzzsin( 5 ) cyan} :)
L o

2
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X

[Page

3
Ansl = {sin(A) = g, cos(4) =

|7 3
Ans2 =| sin(4)=—""", A)="
ns {sm( ) 4 cos(A4) 4
_ 1 x 1 5 A1+
Ans3 =| sin(4) =", co8(4)=—F———=,tan(4) =", csc(Ad) =4/ 1 +x",sec(4d)=—"",cot(4) =x
A1 +x A1+ X X
2

X
Ansd = { sin(4) = 7, cos(4) =

AnsS =

1
Ans.6:[y:gsin(3 0)+5 — [

55

7

Ans. 1 =[y=cos(0),2 =, 1,[-1,1]]
Ans.2=[y=6sin(0),2 m, 6, [-6,6]]
Ans.3=[y=cos(20),m, 1,[-1,1]]

2n
Ans.4=|y=-2sin(50), T, 2,[-2,2]

0
Ans.5:{y=6sin(;j,6n, 6,[-6,6]}
27 1[29 31]
3’61676
Ans.7=[y=-3sin(2w0),1,3,[-3,3]]

1 n o 1[5 7]]
Ans.8 = y=—gcos7 +1,4,g, g,g

,tan(A4) = T, csc(A4) =

9

> ,tan(A4) = ﬂ, csc(A4) = §, sec(4) =

3

447
7

Ans6 =

9

J55

84/55
,cot(4)=
55 3

4
sec(A4) = g, cot(A4) = .

=Sl 5] |
y= 2cos 3 )7e

[y=—cos(x)+ 3, blue]
[y=2sin(2 x), green|

X
y=3cos T +4,cyan}

3 (x
y=_sin| — | -2, black
L 2 2 J

X 7 7
,tan(A4) =—F7—————=,csc(4)=",sec(4d) =", cot(4) =
Al 49 — X x Al 49 — x*

N

| (2
22 (2

N

X

o

NSBA NS NS R Nt Nty NG

.( ]

(VIVCY/N1D:9:9:9:9:9.:9:9.:9:9:9:9.9.0.9.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.9.9:0:0:0:0:0:0:0:0:0:0.0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0.:0:0:0:0.:0.:0.0.9.9.:0.:0.0.0.0.0.9.0.0.9.9:0.0.0.0.9.0.0.0.0.0.0.0.9.0.0.0.0:4
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TrigonometryExercise Answers for No.645102
7413 V13 } P/.-) }
b 2

3,tan(A)—6«1/3173 csc(A)—7 sec(4) = 3 ,cot(4)= p (

345 7ﬁ 7 2«/?} [«/7}

cse(A) = ,sec(A4) = COt(A) = (

2’ 15 15
Ans3 = { sin(4) = F cos(4) = F tan(4) = csc(A) = sec(A) = cot(4) = }
X +9 X +9

Ansl = {sm(A) = 6 ,cos(A4) =

, 345 2
Ans2 =| sin(4) = ,c08(A) = ;, tan(A4) =

36 —x° X 6 6 36 —x°
Ans4d =| sin(4) = —, cos(A)=—"""",tan(4d)=—F———,csc(4d)=",sec(d)=—F——,cot(4)=—""—
6 6 36 — 12 x 36 —x° X

Ans.l =[y=sin(0),2x, 1,[-1,1]] l(
Ans.2=[y=3cos(0),2m,3,[-3,3]] ')
- e
Ans.S:[y:cos(6 6),;, 1,[-1,1] [y——i% cos( 5 j blue} A
] 27 5 X ii
Ans.4=|y=—4sin(3 6),7,4,[-4,4] yzgcos g -2, cyan N
Y,
= e = = —
Ans5 Ans.5=[y=—3 COS(;j’ 10,3, [_3’3]} , Ans6 gy c;s)(cx), red | I
. gm 1710 8 [y=5s1n(7]—4, black} 2)
Ans.6=|y=7cos(50)-3,—/ .| /. T A
3 5730373 [ . (% } )
! nO 1 11 I y=-2sin| ", green || 2
Ans.7=|y=—_cos| —/— ol B o
3 6 3’3 )
L Ans.8=[y=—-4cos(2m0O) -2, 1,4 [-6,2 —(
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[ 4fes 4 465 9465 9 4@}’ {ﬁ

Ansl =| sin(4)=—"" 9 cos(A)— ,tan(4)=—"— 1 csc(A)=? sec(A)— ,cot(4) = 65 >

Ans2 =| sin(4) = ;{1471, cos(4) = 2 ;{1471 tan(4) = 4 csc(A) = J:F, sec(4) :@, cot(4) = é}, , {L()

' x 3 F F

AN

Ans3 =| sin(A) =—F——, cos(4) = 77—, tan(A)—— csc(A)=—",sec(d)=—""_"_ t(A)—
L q/x2+9 A +9 |
_ X 16 - x° X 4 4 16 - x°
Ans4d =|sin(4d)=",cos(A)=—"" L tan(d)=—F——=,csc(4d)=",sec(d) =—F——,cot(4d)=—"
4 4 16 — x° X 16 —x° X
Ans.1=[y=cos(0),2m, 1,[-1,1]] l(
Ans.2 =[y=-3sin(0),2 =, 3,[-3,3]] ')
Ans.3=[y=cos(20),m, 1,[-1, 1]] _ ; - —(
X :
Ans_4:|:y:5(;os(6e),g’ 5’[_5,5]:| [y:—gcos(;)—%green} l
1 2n 1[-11 x :(
Ans.5=[ =—sin(3 0 ,—,—,[—,—H [y=3608( j blue} :
Ans5 = y=ssG OS5 | anss = 3 |2
0 1. (nx (
Ans.6:{y=55in(zj+2,8ﬂ, 5,['3,7]} YZ My pan )
1 0 111 [y=-sin(x) -3, red] N
Ans.7 = yz—Zcos ? ,12,— |22 L[y=2cos(2mx)+3,black]]| :)
| (
Ans.8:[y:—2cos(6n6)+2,g,2,[0,4]} :)
L i T
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X

[Page

6 cos(A)—5 tan(A)—zxs/g,csc(A)=7«/g sec(A)—7 ot(A)—Sﬁ}, ,[C}

12 12

5439 8 8v55 vGEl ,{J3}

2
Ansl = [ sin(4) =

AnsZ—{sm(A)—S cos(4)= 9,tan(A):

39 ,csc(A4) = sec(A) =" 39 cot(4) = s "
Ans3 = { (4) = () == tan( ) =&, sy = LG oy <L x}
nsoy = sm , COS an =",CSC —— S€C = ,CO ="
4/x +16 f\/x +16 4 X 4
Ansd {'(A) 2 o) =~ tant) = 2 esec) = L ooy =L iy x}
ns4 =| sin =" ———, COoS =" ——, tan =",CSC = _  ,S8eC = ,C0 ="
AN4+x A 4+x X 2 X 2
[ Ans.I=[y=cos(0),2m 1,[-1,1]] | )]
Ans.2=[y=4sin(0),2 m, 4, [-4,4]] :(
2r 2)
Ans.3=|y=cos(30),—, 1,[-1,1] ] , i pa
3 [y =-3sin(2 x), black] o
2n TTX 2)
Ans.4=| y=4cos(3 9),7,4,[-4,4] y=2cos S + 4, blue —(
sy Leoiom ZL[21]] (s )
Ans5 = ns.5=|y= 4COS( ) valaa , Ans6=||y=-3sin 5 —4, cyan ||, y
9 = i N
Ans.6={y:—3 sin(z)—2,8n,3,[-5,l]} Ly ISIH(X);EiVee”] 2
{ y:-E cos T , red )(
Ans.7=[y=—5 sin(4n9),5,5,[-5,5]} N —(
1 (n0 11113 y
Ans.8=|y=—"sinl— |+4,8, =, | — i
i 3 4 3373 e

(VIS E1D:9:9:9:9:9:9.9:9:9:0.0.9.0.0.9.0.0.0.0:0.0.0.0.0.0.0.0:0.0.0.9:0:0:0:0:0:0:0:0:0:0.0:0:0:0:0:0:0:0:0:0:0:0:0:0.:0:0:0:0:0:0.:0:0:0:0.:0.:0.0.9.9.0.:0.0.0.:0.0.:0.0.0.9.9:0.0:0.0.9.0.0.0.0.0.0.0.9.0.0.0.0:4
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TrigonometryExercise Answers for No.645105

I 54/89 84/89 5 89 89 8}’ {ﬂ

Ansl =| sin(A4) = 29 cos(4) = %9 tan(4) =g, csc(A4) = 5 sec(4) = g cot(4) =g >
Ans2 =| sin(4) = g, cos(4)= %, tan(4) = %, csc(A4) = %, sec(4) = %, cot(4) = «/279 }, , { C

2 2

] X X X 2 2 X
Ans3 =| sin(A4) = 5 cos(4) = > tan(4) = M csc(A4) = m, sec(A4) = K cot(4) = P

I 3 X 3 f\/x2+9 f\/x2+9 1_

Ans4d =| sin(4) =, cos(4) =", tan(4) =", csc(4) = ,sec(4) = ,cot(4) =
L X +9 X +9 X 3 X 3

Ans. ] =[y=sin(0),2m, 1,[-1,1]] | l(
Ans.2 =[y=-4cos(0),2 7, 4,[-4,4]] '-)
Ans.3=[y=sin(20),m 1,[-1,1]] _ - =

2n é | TTX o
Ans.4=[y:—3sin(SO),T,3,[-3,3]} V=, s o) green 2

[ (ej } [y=-3cos(2x),cyan] N
Ans.5=|y=-2sin| — | 61, 2,[-2,2 = si 1, red :
s y 3 [-2,2] s [y3 sm();)x+ red] ’ l(
1 2n 1[2325 — Zcosl — | :
Ans.6=[y=—gcos(3 9”“’%’8’[??}} [y 2C°S(xz ] K blue} l(
1 0 1]-11 - == .
Ans.7:[y:——cos(n—j, 12,—,[—,—H _{y 3005[2) 2’bla0kl )
3 6 30373 <

1 1

Ans.8 = y:—2sin(4n6)+3,5,2,[1,5] 2)
L - (
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TrigonometryExercise Answers for No.645106

Ans]=[sin(A)=¥ cos(A)—3 tan(4) = 2 3 O,CSC(A)=% sec(A)—7 cot(A)—%}, ,[L()}
AnsZ_[sm(A)—7 cos(A)—4f,tan(A): 7;{5 csc(A)—9 sec(A)—%, cot(A):4f}, ,[«/?}
Ans3 = sin(A)=L, cos(4) = ,tan(A)zz, csc(A)=—""",sec(Ad)=—"""" t(A)—

L AN4+x 4+x° X i
B X =9 3 X =9 x 3]
Ans4:_sm(A)= B ,cos(A)zx,tan(A): 3 ,csc(A) = x2_9 sec(A)— ,cot(4) = m_
[ Ans.l=[y=cos(0),2m, 1,[-1,1]] ] )]
Ans.2=[y=-4sin(0),2 n, 4,[-4,4]] (
Ans.3:[y:sin(69),£,1,[-1,1]} l(
_ . -
Ans.4 = {y 6 sin(5 6) —/, 6, } [y=gsm(2x),green} l
0 [y=-3sin(2 mx), blue] )(
Ans5 = Ans.5=|y=4cos| — |, 12, 4,[-4, 4 Ans6=| [y=2cos(2x) +3, black] ||| —
6 (
[y =—cos(x)+ 3, cyan]
_[_1. ) 2_1[_31_}} i )
Ans.6 = y——4sm(5 )-3, 5’4 47 4 {y:—Zcos(7j+4,red} (
peelFhslaal i
Ans.7 =| y=-_cos , 2
2 4 o
Ans.8 = [y——4sm(6719)+3 ,4,[-1 7]} l(

X [Page = 0039]
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TrigonometryExercise Answers for No.645107
8415 «/15} {«/.-)}
= b 2

15 o) =" o

AnSZ—{sm(A)— ﬁ cos(A)_2 an(4)=—"— ﬁ ,csc(A4) = 3f sec(A)—3 cot(A)——fl {L()}
/ 2 / 2
Ans3 ={sin(A) = %, cos(4) = —«/%’ tan(4) = %, csc(A4) = —497+x ,sec(A) = —49x+x ,cot(4) = %}
49 +x 49 + x
[ 2
Ans4:|:sin(A)=%, cos(A)sz_g,taH(A):ﬁ csc(A) sec(A) ﬁ, COt(A):xT_9:|
X — X -

Ansl = {sm(A) = ! ,cos(A4) = > ,tan(A4) = ! {;75 csc(A4) = 8 sec(A) =

Ans. 1 =[y=cos(0),2m, 1,[-1,1]] l
Ans.2=[y=-2sin(0),2 w, 2,[-2,2]] '.(

y 3—[—'(39)2—751[11]} l
asI =y =S 30 b [ [y=—cos(x)— 1, black] | )(
Ans.4=[y=-5cos(20), 7 5,[-5,5]] [y=-3sin(2 mx), cyvan] —(

0 ;

g5 — Ans.5:[y:—2 cos(;),&r, 2,[-2,2]} ' dns6= [y:—?) cos(?j, blue} ’ 2
1 2n 1|11 13 1 Tx :(

Ans.6 = y:gcos(S 6)+2,T,g, z,z [y:gcos[Tj—&red} :)
R 11-11 L[y=3sin(2x)+ 3, green] (
Ans.7—[y— 3sm(2n@),1,3,[3,3ﬂ l
o

2

(

(O
Ans. 8 :[y =-5 sm(7j +3,12,5,[-2, 8]}
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TrigonometryExercise Answers for No.645108
3410 i)
— |

. 2410 3 24/ 10 74/ 10 7
Ansl =| sin(A)=—"-"",cos(4) = ;, tan(4) = T, csc(A)=—"_—",sec(4) = g, cot(4) =

20 20 (
54/61 64/ 61 5 4/ 61 4/ 61 6 :
Ans2 = {sin(A) = ,cos8(A4) = ,tan(4)=",csc(4) = ,sec(A4) = ,cot(4) = —}, , {ﬂ}
61 6 5 5 o
ans3 = sint) =% cos() = T iy == (4) ()= cot( ) = T2
ns3 =|sin(4) =", cos(4) = ,tan(A4) =—F7——, csc(4) =", sec(4d)=—F—, co =
i 7 A 49 — ¥ x A 49 - ¥
, A25 - x Al25 = x* 5 5 X
Ansd =|sin(Ad)=—"—"—"—"—",cos(Ad)=",tan(A) ==, csc(d)=—F———,sec(4) =", cot(4d) =—F—
L 5 5 X A25 =X X 25 —x
[ Ans.I=[y=sin(0),2m 1,[-1,1]] ] )]
Ans.2=[y=3cos(0),2m 3,[-3,3]] (
27 Y,
Ans.3=| y=cos(50). =~ 1.[-1.1] »
1 i [y=sin(x)+ 3, black] ")
Ans.4={y:—6sin(59),—,6,[-6,6]} 5 (nx e
5 y=-—_sin| —_ |, red N
1 1[-11 2 2 )
Ans3 = Ans.5 = y:gsm(2 0), n,g, ?,g . Ans6 = [y=-3cos(2x),cyan] | -
. [y=-2cos(2x) -3, blue] ||
Ans.6:{y:—4cos(—)—l,1075,4,[-5,3]} x 2
5 y =2 cos 3 -2, green o
7 0 - - J
Ans.7 =| y=-2 cos T ,8,2,[-2,2] —(
I 1[15 17 b
Ans.8=|y=—cos(2mO)+4,1,—,| — — -
i 4 4L 4% 4] A
S ERID0010.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.000.0.0.0.0.0.0.00.00.0.00.0.00.000.00.0.00.0.00.000.00.0.00.000000.00.000.0000000000000000000004
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TrigonometryExercise Answers for No.645109
24/ 10 3 2410 7410 7 3410 :
Ansl =[sin(A) =T cos(4) = tan(A) =75 > csc(A)=—"_—",sec(4) =§, cot(A4) =Tl , [L()}

20
2 f, cos(4) = > f tan(4) = z csc(A) = J?, sec(4) = @, cot(A) :él , {L()}
Ans3 = { sin(4) = %, cos(4) = %, tan(4) = i, csc(A4) = sec( )=—"_,cot(4) = ?}
25 +x 25 +x

Ansd {'(A) VO-% ay= tan(a)= V9= (4) ==, sec(A) =, cot(4) =~
ns4 =| Sin = , COS = an = CSC = SseC =".CO =
3 x f\/9—x2’ X’ 9—x°

Ans2 = {sin(A) =

[ Ans.d=[y=sin(0),2m L,[-1,1]] | )]
Ans.2=[y=2cos(0),2m 2,[-2,2]] A
Ans.3:{y:sin(39),2—n,1,[-1,1]} { . xj } 2

3 y=—"sin| — |—4, green (

Ans.4 [ 3c0s(49)n3[33]} 32 3 )
ns.4 = = — - -3, -z

4 2 {y:—sin(nxJ+2 black} y

A 5—{ L cos(s 0 2—751{—11}} P 2
AnsS = ns.S=|y= 4 cos(50), sx| a4 , Ans6 = {yzgsin(;) cyan} , o
6 .

Ans.6:[y:—5 sin(g)—i 12 n,5,[-8,2]} [y=—cos(x)—2,red] —)(
1 1i-11 y= 2cos( )blue} l
Ans.7—[y——3cos(2n9),1,3,[3,3}} L 2 i (
Y } "
Ans.8 =| y = —4 cos Y +3,6,4,[-1,7] _(
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TrigonometryExercise Answers for No.645110

B |55 3 |55 84/55 8 3@}’ {ﬁ

Ansl = :sm(A) = T, cos(4) = g, tan(A4) = T’ csc(A4) = ?, sec(A4) = 3, cot(4) = 55 o :
Ans2 =| sin(4) = ﬁ, cos(A4) :§, tan(A4) = ﬁ, csc(A) = ’ ﬁ, sec(A) :2, cot(A4) = 5 ﬁ}, , { ﬁ
L 9 9 8 17 8 17 o .
/ / 2
Ans3 =| sin(A4) = cos(A) 77—, tan(4) = csc(A) = SRALS v ,sec(A) = %, cot(4) =§

4+x° -

Anst =] sin(4) =~ cos(4) = tan(d) = %, cse() = L coe) = LY oy =
ns4 =| Sin = , COS , tan =—_,CSC = , S€C = , CO ="
X+ A X +9 3 X 3 X

¢

Ans.l =[y=sin(0),2n, 1,[-1,1]]
Ans.2=[y=3cos(0),2m 3,[-3,3]]

Ans.3 =| y = sin(6 ), g 1, [-1, 1]}
[ [y=-3cos(2x)+3,red] |

T
Ans.4:{ =2sin(40),—,2,[-2,2 } 1 TX
Y (49) 2 [ ) {y:—gsin(T]—&blue}

1 Tt l]-11
Ans5=| Ans.5= [y——3 COS(49)__[_,_H , Ans6=| [y=3cos(2mnx),cyan]

2°3°13°3 .
{ y=2 sin(;j, black

[y=cos(x)+ 1, green|

N

0
Ans.6:{y=2cos(zj+3, 8m 2,[1, 5]}

1
Ans.7=[y=—3 cos(4m 9),5, 3,[-3, 3]}

1 (no 113
Ans.8 = yz—gsmT +1’6’5’ >
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X [Page =

7
Ansl = [ sin(4) = 5, cos(4) =

442
9

7
,tan(A4) =

94/2

442

2 9
,csc(A4) = ;, sec(4) = T’ cot(4) =

2%

7

o
I 2 21 24/21 5 54/21 Y21 ) |
Ans2 =| sin(4)=—_,cos(A4) = ,tan(A4) = ,csc(Ad)="7,sec(4)= ,cot(4d) = }, , { ﬁ
L 5 21 2 21 2 J(
] —x X A9 —x 3
Ans3 =|sin(4d)=—""—"",cos(4d)=",tan(4d)=—"""",¢csc(4) =
I 3 3 X 9—x"

Ansd = { sin(4) =

AnsS =

VXYY 1D:9:9:9:9:9:0:0:0.0:0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.9.9:0.0.9:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0.:0.:0.:0.:0.:0.:0.:0.:0.:0.0.0.0.0.0.9.0.9.0.0.0.0.0.0.0.9.0.0.0.0¢

A -16 Axr =16
X

Ans. 1 =[y=cos(0),2m, 1,[-1,1]]
Ans.2=[y=2sin(0),2m, 2,[-2,2]]

4
,cos(A)=",tan(4) =
X

] 27
Ans.3 =| y=sin(50), T, L, [-1, 1]}
2n
Ans.4={y: -6 cos(30), T, 6, [ -6, 6]}

0
Ans.5={y=3cos{zl8n,3,[-3,3]} , Ans6 =

1
s cos(40)+3,

Ans.6={y=

1 1|-11
Ans.7 = y:—Ecos(37c6),3,5, E,E

7 0
Ans.8 =[y =-5 COS[TJ -3,6,5,[-8, 2]}

[y=-3sin(2mx)+4,cyan]

X

3
[yzzsin(Z x)—4, blue}

1 T X
y=—_cos| —_ |, black
2 2

[y=sin(x) -2, green]

=geod )]
y——zcosz,re |

3 X
——,sec(4d)=",cot(4) =—F——
A9 —x X
X

2

)
(
)
(
)
(
)
(
)
(
)
(
)

(

4
,csc(A) = ,sec(A)="—",cot(4) =—"F——
4 A X - 16 4 X -16

|

XX XXX XXX XXXXKXXX
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7458 3 \/58 58 7 o
seot(d)="rl, ) T 7

i ,cos(A4) = ,tan(4)=—",csc(4d)="""",sec(4) = (

58 58 7 3 7

84113 74113 8 113 113 7} {ﬁ}
,cot(A):g, N

113 st =T e tan(A) =2, ese(A) =TT see(d) =7 o

3
Ansl = {sin(A) =

Ans2 = {sin(A) =

X —4 2 X —4

. - _ X X _
Ans3 = _sm(A)— N cos(4) = x,tan(A) =", csc(A4) = m, sec(A4) = > cot(4) = = 4
79— x 3 3 N9 -
X

X
Ans4d =| sin(A)=",cos8(A)=—""",tan(4) =—F——=,csc(4d) =", sec(4d) =—F——,cot(4d)=—"
3 3 4,9_)"2 X ’\[9—x2

| Ans.I=[y=sin(0),2 7, 1,[-1,1]] :)
Ans.2=[y=-4cos(0),2m, 4,[-4,4]] N

. 2 - - 2)
Ans.3=|y=sin(50),—, 1,[-1, 1] 3 TX -

5 y=—_sin| |+ 3, red o

o 2 3 )
Ans.4=|y=-5cos(30),—5,[-5, 5] 3 X -

3 y=Tsin| 7 |+ 2, black o(

Anss A5{ ! (6e)nl['llﬂ Ans6 T /
= ns.b> = ="CO0Ss A " = > —
" Y7y 341474 " [y:-—co{ﬁj, blue} o
0 2 3 )
Ans.6:[y:3sin(5)—5,4n,3,[-8,-2]} [y=cos(x)+1, green] —

1 (n0) 1[-11 [ _2 (ﬂ] } y

Ans.7 = [y =— sin(—j, 10, -, [—, —H L Y= €03 2 ) ] )

3 5 3033 o

1 2)

Ans.8 = y=—4cos(6n9)—3,5,4,[-7,1] —(
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9 5439 8 84/39 4/ 39 A
,tan(A4) = 39 ,csc(A4) = sec(A) =19 ,cot(4)= s } { ) }

2[ 7«/? 7 5«/?} [ }

Ansl = {sm(A) = 2 ,cos(A4) =

¢ ,co8(A)="_. tan(A) =

,csc(A4) = 12 sec(A)— ,cot(4d)= 12

/ 2 / 2
Ans3 = { sin(4) = %, cos(4) = %, tan(4) = %, csc(A4) = #, sec(A)=—"",cot(4) = }
49 +x 49 +x

X 1 1 1
Ansd = { sin(d)=x,cos(4)=4/1- X, tan(4)=—F7—=,csc(4d)=",sec(4d)=—fF——,cot(4)=—"
1-x° X 1=

2
Ans2 = [ sin(4) =

|
=
N8}
[

Ans.l =[y=sin(0),2n, 1,[-1,1]]
Ans.2=[y=-5co0s(0),2m,5,[-5,5]] 1 .
Ans.3=[y=sin(20),m, 1,[-1,1]] [ i ( j+3 green}

Ans.4=[y=3cos(20),m 3,[-3,3]]
—sm[ j blue}

0
Ans.5 = [y =—4 COS(E), 4m,4,[-4,4]
= —cos(x) + 1, cyan ]

Ans5 = 1 2n 1[-13 -11
Ans.6=|y=—sn(30)-2,—/, —,| —/—,
6 3°6'L6° 6

Ans6 =

S
N

(O
Ans.7:{y=—3 sm(T], 8,3,[-3, 3]}

1 211113
Ans.8 = y——3cos(5n6)+4—— o

y=
[y
[ =—sin(2x) -3, red}

y=-" cos( jblack}
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X

[Page

Ansl = {sin(A) = ! g5 cos(4) = 6 f tan(4) = ! csc(A) = ,sec(A4) = Jg, cot(A) =g}, , {L()}
Ans2 _[sm(A) = 2 ,cos8(A4) = 2 @, tan(4) = > g;j, csc(A4) = %, sec(4) = 2 gg, cot(A4) :@}, , [L()}

Ans3 = { sin(4) =

0047]

/36 — X /36 — X

p ,cos(A4) = %, tan(4) = T’ csc(A4) = o —F—,sec(4) = g, cot(4) = ﬁ}
/ 2 / 2
Ansd = { sin(4) = F cos(4) = F tan(4) = csc(A )= 42+ Z %, cot(4) = %}
4 +x 4 +x

Ans.l =[y=sin(0),2w, 1,[-1,1]]
- . _
[y:—2 sin(7j+2, green}

Ans.2 =[y=-6cos(0), 2n 6,[-6,6]
1
[yzgcos(Z TX), blue}

[y=cos(x)—3, black]

,sec(4) =

]
Ansj’—{y—cos(?) 0), —,1,[ 1, 1]}
Ans.4 = [ :—5s1n(66)—5 [-5, 5]}

5]y SCos(jm N
k]|

Ans.6 [ :—sm(26)+2 T,

Ans.7 = [ =-3 cos( )12,3,[-3,3]}

X
[y=20055 +4,cyan}
eyl
I y——2s1n 3 , re |
21|14 16
Ans.8 = y—— cos(3m0)+3, .| —
5 3505511 L

),0:9:0.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:0.0:9:9.0:9:9.0:9:9.0:9.:9.0:0:9.0:0:9.0:0:0.0:9:9.0:9:9.0:9:9.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:9:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0.:9.0:0:¢

Ans5 = , Ans6 =

N

N N e N AN A
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14 y 94/ 14 y 2
5 , csc( )——28 , sec( )—5, g

F 8@ co

[ ' 2414 5 2414
Ansl =| sin(A)=—"_—",cos(4) = tan(A) =

8
,csc(A4) =

Ans2 = {sm(A) = 2 ,c08(A) = tan(A) = sec(A)

sin(4) = ﬁ, cos(4) = ﬁ tan(4) = csc(A) =
L +X +X

Ans3 =

2

I , A/36 —x°
6

Ans4 =| sin(A4) = cos(A)— ,tan(A4) =
[ Ans.l=[y=cos(0),2m 1,[-1,1]] ]
Ans.2=[y=-5sin(0),2 m, 5, [-5,5]]
Ans.3=[y= $in(6 0), % LI-11]
T
Ans.4:[y:—4sin(66),;,4,[-4,4]}
[0
Ans5 = Ans.5 :{yz 6 s1n(;j, 47, 6,[-6, 6]} ,
P { L lzl[éﬁﬂ
ns. y= 5cos( ) 35|53
Ans.7={y=—5cos(3n9),g,5,[-5,5]}
1 (=06 1135
Ans.8=|y=—"sinl — |+2,8, .| =
L 2 4 2’122
0048]

X [Page =

,csc(A) =

Ans6 =

3
{y = —5 sin(2 x), blue}
[y=2cos(2mx)—4,black]
3
[yzgsin@ nXx),red

[y=cos(x)+2, green|

=gl ) aom)
=—"sin| _ |+
I y 2sm2 , cyan

N N N O Y N N N

ﬁ
ﬁ x
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[Page

0049]

I 3 7458 3 |58 7 ]
Ansl =| sin(A4) = ,cos(A4) = s tan(A)— ,csc(4) = ,sec(A4) = ,cot(A)=5}, ,{L()
I 5 '\/39 8 84/39 A/ 39 ]
Ans2 = s1n(A)_ ,co8(A)="""tan(4d)="—"__" sc(A):g, sec(A):T, cot(4) = s }, ,P/?
I ] X A/ —x2 X 3 3 9—x° |
Ans3 =| sin(A4) = ;, cos(A4) = T, tan(4) = T csc(A)=",sec(4)= ﬁ, cot(A4)
L 9—x X 9—x J
I , A x4 2 N X 2
Ans4d =| sin(4)=—"",cos(4) =", tan(A):T, csc(A):ﬁ sec(4) =" cot(A) ;
L X X x -4 x =4
i Ans.] =[y=cos(0),2m, 1,[-1,1]] l(
Ans.2=[y=-2sin(0),2 w, 2,[-2,2]] '.)
n i 3 11 =
Ans.3 :[y=c05(6 0), g, 1,[-1,1] [yzgsin(gj, green} A
2)
) T 5 -
Ans.4=[y:3 sin(4 6),5, 3, [-3,3]} [y:gsin(Z TX)+3, blue} A
_ - 2)
= 9 = -
Ansd Ans.5=[y:3sin(ﬂ,sn,s,[-s,s]} AT =2 eos(am) —dored | | 0
_ - ‘ - 2)
1 2n 11517 S o
Ans.6=[ = sin(50)+4, — ~ —H _ [y==sinlx), black] _ o
5414 4 L e )
Ans.7=[y=—551n(2n9),1,5,[_—5,5]] [T TT , p ]] £
1 (70 1 [-17 -15 1
Ans.8=|y=—"cos| —/ |—-4,10,—,| —, — 2)
L 4 5 414 4 11 —(

),0:9:0.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:0.0:9:9.0:9:9.0:9:9.0:9.:9.0:0:9.0:0:9.0:0:0.0:9:9.0:9:9.0:9:9.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:9:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0.:9.0:0:¢
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Ans]={sin(A)—ﬂ/47 cos(A)—i tan(A)— ’ ,csc(4) = 4f sec(A)—4 cot(A)—#}, ,{L()}
Ans2 = sm(A)—3 cos(4) = tan(A)— 3F csc(A)—8 sec(4) = 8«5/5575,c0t(14):«/j75}, ,P/?
- ,— — N
Ans3 = sm(A)= ,cos(A4) = #tan(A)—x,csc(A)— sec(A)—ﬂ, cot(A)=£
AN4+x A4 +x° 2 ]
— — Z
Ans4—_sm(A)— 42 X ,cos(A)="T tan(A)—%, csc(A4) = F sec(A):%, cot(A):ﬁ_
[ Ans.I=[y=cos(0),2m 1,[-1,1]] | )]

Ans.2 =[y =5 sin(0), 2n 5,[-5,5]] (

Ans.3 = y—cos(Se)—l [-1, 1]} - - 2

X (

[y =-2 cos( ), red} )

Ans.4 = {y:—Ssm(49)— 5, 5,5]} 3 2

5. (

{yz——s1n(2nx)+2, cyan} )

AnsS=| Ans.5 [ 6cos( j 10 7, 6, [-6, 6]} . Ans6 = z Z

[y=3sin(2 x)+ 3, blue] (

1

Ans.6 = {y:—sm(S 0)+ ,?n 5 [— —H y:—Esin(2nx),green l(

Ans.7 = { =— s1n(47:9 ll[ H L [y=cos(x) +2, black] 2

2’3 (

el | !

Ans.8 =| y =—06 sin| T +4,8,6,[-2,10] —(

[Page 0050]

X

),0:9:0.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:0.0:9:9.0:9:9.0:9:9.0:9.:9.0:0:9.0:0:9.0:0:0.0:9:9.0:9:9.0:9:9.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:9:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0.:9.0:0:¢



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXXKX XXX KKK XKLL XKL XKL LKL KKK KKK KKK KKK KKK K KKKKKKKKKMS /1-6400302-00051XX

TrigonometryExercise Answers for No.645118
447 4 347 V)
7 - b 2 -

N 3 47
Ansl =| sin(A4) = 1 ,cos(4)=" tan(A) = ,csc(4) = ,sec(4) = cot(A) =" (

[ 5 «/3 sf 6 6«/? ﬁ} {ﬁ

Ans2 = s1n(A)— ,c08(A) = tan(A4) = csc(A)— ,sec(4) = 1 ,cot(A) = 5 v
| (4) == cos(A) =, () = 2 ese() = L ey - L oy _
nsoy = Sll’l , COS an =",CSC =— _  ,S8€eC = ,cC0 ="
4/ 249 X+9 3 X ]
Ansd = { (4)= (4) == tan() P L R A LI }
ns4 =| sin , COS an —_ CSC = , S€C = ,CO ="
f\/x + 16 «/x + 16 X
[ Ans=[y=sin(0),2m L,[-1,1]] | )]
Ans.2=[y=4cos(0),2m, 4, [-4,4]] :(
[ ) 2n } 2)
Ans.3=|y=sin(50),—, 1,[-1,1] 1 =
5 {y ~ ( j 2 green} o
e tan] | ([ -)
4=|y=- 0), = 2, [- —
Ans4=|y==2cos(40),72,[-2,2] [:—sm[ﬁj+4,cyan} .‘(
4 5—{ — L cos(4 6 El[ilﬂ )
AnsS = ns.5 = y—S cos(4 0), 25 55 , Ans6 = [ _ cos( jblack} 1
N e A ) )
Ans.6—{y— 5sm(2) 4,471,5,[9,1]} [y=_3 sin(ij,red} :(
o olz2)o21] e ) -
ns.7 = y——4cos 3 ,6,4, 12 L [y=—cos(x)+ 3, blue] —(
Ans.8 = [y——6sm(4n9)+4 1 ,0,[-2, 10]} l(
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TrigonometryExercise Answers for No.645119
3«/55} {«/.-)}

Ans]={sin(A)— > cos(A)—3 tan(A)—ﬁ,csc(A)=@ sec(A)—8 cot(4) = ss ol

8 3 55

> 6161 ,cos8(A4) = 6? tan(4) = 2 csc(A) = @, sec(4) = E, cot(A) :gl , {L()}

] 5 25+ X A =25+ X
Ans3 =|sin(4A)=",cos8(A)=—",tan(4) ==, ¢csc(4) = sec(A )=—F———,c0t(A)=""_—
X X 4/_25 +x2 A =25 +x° 3
: X Ax' =16 }
2

4 X -
Ans4d =| sin(4)=",cos8(A)=—",tan(4) =7, csc(4) = sec(A) T, cot(4) =
{ x x X 16 AX*-16 4

Ans2 = {sin(A) =

[ Ans.1=[y=cos(0),2m 1,[-1,1]] :)

Ans.2 =[y=3sin(0), 2n 3,[-3,3]] A

. oy

Ans.3=|y= 56 —1 1,1 -

- y=cos(39), - ]} [y=2cos(%j—3,blue} |

Ans.4 = [y 5 cos(6 6) -, 5,[-5, 5]} [y=-sin(x) -2, red] 2

1 2 111 { > '(x]+4 bi k} )(

_ _ = i B . y=_Sm| , blac _

Anss = Ans.5—[y—4cos(3 0), Y [4 4H , Ans6 = 2 2x , y

Ans.6:[y =5 sin(gj +2,6m,5,[-3, 7]} {y =2 S‘“(E]’ "y"”} l(

TX '

Ans.7=[y:—4 sin(5 o), %, 4,[-4, 4]} _[y:_3 COS(T): green] l(

[ I ,[TEGJ 1[-11 9H )

Ans.8=|y=—_sin| — | -5, 12, -
L 2 6 2L 272 L (]
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TrigonometryExercise Answers for No.645120
2413 3 J13 J13 2} {«/7}

3
Ansl = {sin(A) =

13 ,cos(A4) = 3 tan(A)— ,csc(4) = 3 ——,sec(4) = 5 ,cot(A)=5 >
AnsZ_{sm(A)_3 c:os(A)—«/g an(Ad)=—"_—" B sc(A)zg,sec(A):%,cot(A):«/j?l ,P/?}

Ans3 {'(A) 25T (A= tan(d) = “_2” () =—— ()=, cot(4) =—— }
nso> =| Sin =— COS —_ an = CSC =—, SeC =_, CO =T —
x Al =25 + x* 5 Al =25 + X

[1. .2 [1 2
Ans4:{sin(A)=L cos(A)— ,tan(A4) = lo-x ,csc(A)zL, sec(A):i, cot(A):;}
4 X 16 —x° X 16 —x°
Ans.l=[y=cos(0),2m, 1,[-1,1]] l
Ans.2=[y=3sin(0),2 w, 3,[-3,3]] '.(
Ans.3=[y=cos(20),m, 1,[-1,1]] [ 3 nx A
[ 2 } yz—Ecos T + 4, cyan A
Ans.4=|y=2cos(50),—,2,[-2,2] ) 2)
5 [y =sin(x), blue] —(
0 .

s — Ans.5:[y:6sin(;j,6n, 6,[-6,6]} ' Ans6— [y:—i cos( j+3 black} , 2
1 157 1. o
Ans.6 = y=—3 cos(20)+2,m, 3 55 2 ( J green 2)
1 (n0) 1[-11 x o
Ans.7 = yz—Zsm 7 ,4,2, Z,Z ] [y:2sin(;l red} | l(
Ans.8={yz—2cos(6n6)+2,§,2,[0,4]} l

L i L]
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TrigonometryExercise Answers for No.645121
33 4 4/ 33 7 44/33 A
Ansl = {sin(A) =———,cos8(4d)=",tan(4)="",csc(A4) = }, , { / }
7 7 4 33 33 o

65 7465 4 65 65 7}, {ﬂ}

,cos8(A4) = ,tan(4) :;, csc(A4) = M sec(4) :T, cot(A) :Z (

65 65
Al 25 — ¥
X

3 7
—_,sec(4)= Z’ cot(4) =

AN

Ans2 = {sin(A) =

X 25-x° X 5 5
Ans3 =|sin(A)=",cos8(A)=—"""-"",tan(4) ==, csc(4) =", sec(4d) =, cot(4) =
{ S S A25 X X A25 %

, > x 1 1 J1-x
Ans4d =|sin(4d)=x,cos(A) =4 1—-x",tan(4d)=—F7——=,csc(4d)=",sec(4d)=—F——=,cot(4)=—
A1-x X A1=x X
Ans.l=[y=cos(0),2m, 1,[-1,1]] _)(
Ans.2=[y=3sin(0),2 m, 3,[-3,3]] ')
- A
Ans.3:[ =cos(60), —, 1,[-1,1 :
4 ( )3 [ ) [y=2cos(2mx), cyan] )(
Ans.4:{y=4cos(6 0), g 4, [-4,4]} [yz_lcos(xi+ 1, blue] P
Ans5 = 1 2n 1 |-11 , Ans6 = [y:—gcos(_]+4, red} , 2
Ans.5=|y=—"sin(30),—/,—,| =~ A
4 3741474 1 (mx
0 y=—551n T + 3, green 2)
Ans.6:{y: -3 s1n(5j -4,4m,3,[-7,-1 ]} | [y=2sin(2x), black] (
ol 341
ns. —y——3cos 6 123303 )(
L Ans.8=[y=—4sin(2w0)+5,1,4,[1,9]]. —(
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TrigonometryExercise Answers for No.645122
15 7 415 84/ 15 8 7415 :
Ansl ={sin(A)— cos(A)— ,tan(Ad)=—"—"—",csc(Ad)=""_",sec(4d)=_,cot(4) = }, ,{ﬁ}
8 7 15 7 15 o
345 345 745 7 2«/?} [«/7}

2
. ,cos(A)z;,tan(A)— 5 ,csc(A4) = 15 sec(A):E cot(4) = 15 (
3

A

——,c08(4) = + tan(4) = 2 K csc(A4) = ,sec(4) = cot(4) = }

Ans2 = [ sin(4) =
Ans3 = { sin(4) =

Ans4 :{sin(A) = ;2 tan(A) = csc(A) AJ1+x ,sec(A4) = cot(A) :x]

Ans.8={y=—3 sin(6 wO)+ 5,5, 3,[2, 8]}

Ans.l=[y=cos(0),2m, 1,[-1,1]] l
Ans.2=[y=-3sin(0),2 3, [-3,3]] )(
Ans.S:[y:sin(66),£,1,[-1,1] { 3 (nx] } Y

3 y=_cos| — |—-2,cyvan )

Ans.4 =y =—4cos(20), 7, 4, [-4, 4]] 2 2 —(

1 2m 1[-11 [ ) ( j a4, d} :

_= - | == y=2sin +4, re )

dnss =| A0S [3’ G075 {6’6H , Ans6 = 2 2
0 [y=-sin(x)— 1, black] A

Ans.6:{y=—6 sin(—j—l 10 =, 6,[-9,3]} [ 1 ( ] } 2)
5 y=-—_c0s blue -

1 (n6 111 2 :(

Ans.7 = y:—gsm T’IO 6 676 L[y=-2cos(2mx),green]l| )
o

2

o
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)

TrigonometryExercise Answers for No.645123

Ansl = {sin(A) = @, cos(4) = %, tan(4) = 77, csc(A4) =

7474

74

5474
74

Ans2 = {sin(A) = ,cos(A4) =

I 6 A =36 +x°
Ans3 =|sin(A)=",cos8(A)=—""
i X X
, —25 +x* 5 —25 +x*
Ans4 =| sin(A4) = ,cos(A)=",tan(A4) =
X
Ans.1=[y=sin(0),2m, 1, [-1,1]] ]
Ans.2=[y=-2co0s(0),2m 2,[-2,2]]
Ans.3=[y=cos(20),n, 1,[-1,1]]
27
Ans.4:{y:2sin(3 6),7,2,[-2,2]
ms]y—Loan BL[21]]
anss=| AP =[P= 3003 53
0
Ans.6=[y=—6 sin(zj+4, 8m, 6,[-2, 10]}
2
Ans.7:[y:—4cos(5n6),g,4,[-4,4]}
1 0 1|-7 -5
Ans.8=|y=—-"cos| — |-2,12,-,| T, =
L 3 6 3703 3 111
[Page = 0056]

X

7
,tan(4) = g, csc(A4) =

9

447
7

Ans6 =

Ja
7

347

7

e

,sec(A) :T, cot(A) :;

[y=sin(x) — 2, green]

y=3 cos 3 e
X
{y =-2 sin(—2 j, blue}

5
[y =5cos(2 x)+3, black}
5

el 5]
_y——2c0s 3 ) ,cyan_

4
,sec(A4) = 7 cot(A4) = —} , {
5}
tan(A) ° (4) ==, sec(d) =—F—== ((4)
, tan = ——, CSC =", sec =—F——, CO =
A =36 + x* 6 A =36 + x°
X X
,CSC(A)=—TF————=,sec(4)=",cot(4) =
A -25+x° S

2

[

6 -
5

25 +x° i

o

),0:9:0.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:0.0:9:9.0:9:9.0:9:9.0:9.:9.0:0:9.0:0:9.0:0:0.0:9:9.0:9:9.0:9:9.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:9:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0.:9.0:0:¢
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TrigonometryExercise Answers for No.645124

24/29 54/29 2 229 {29 o 5} {«/7}
CO = -
5 9 2 b 9

9 cos(4) = 9 tan(A4) =g, csc(A)="",sec(4)= o

2
84/73 34/73 8 73 A 73 o 3} {«/ ) }
b CO =" b b
3 8

,cos(A4) = ,tan(A) =7, csc(A4) = ,sec(A4) = (

Ansl = {sin(A) =

Ans2 = {sin(A) =
73 73 3 8

|

] 1 1 X 5
Ans3 =|sin(4d)=",cos8(A)=—"",tan(4) =, csc(4d) =x,sec(Ad) =T, cot(4d) =4/ x" -1
X X A =1 A =1 il

1% 1 1 x
Ans4 =| sin(A)=4/1 - X, cos(Ad)=x,tan(A)=—"",csc(4) = T sec(Ad)=",cot(4) =—F——
X X

I —x I —x" |
_ 9 -
[ Ans.I=[y=cos(0),2m 1,[-1,1]] | o
Ans.2=[y=-5sin(0),2 m, 5, [-5,5]] :)
Ans.3=[y=sin(20),w, 1,[-1,1]] _ - (
Ans.4=[y=-6cos(20),m 6,[-6,6]] [y =—2 cos(2 nx), black] 2)
0 [y=cos(x)+1,red] -
Ans.5=[y=—5 cos( j 81,5, [-5, 5]} { . (x) } :(
4 y=3sin = |- 2, cyan 2)
Ans5: 1 8 10 y AI’IS6= 3 ’ _
Ans.6:[y:—sm(29)+3 , { H { (nx] } :(
3 y=-3cos By — 4, blue :)
1 :
Ans.7:{y:—6 cos(Sm 9) - {_ —H L [y=2sin(2x), green | )(
sl ) } "7
Ans.8=|y=-3cos| —/ |+3,12,3,[0,6] :
L 6 | 2)
L (]

DRI [SHE SNV WA D 10:0:0:0:0:0:0:0:0:9:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0.9.:0.0:0:0.:0.0.0.0.0.9:0.9.0.9.9.9.0:9:0.0.9:0.9.9.9.9.9.9.0.0.9.0.9.9.9.9.9.9.0.9.9.9.9.9.9.9.9.9.9.9.9.9:9.9.9:0.9.0.0.0.9.0.4
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TrigonometryExercise Answers for No.645125

Ansl = {sin(A) = > 344 ,cos(A4) = s f, tan(A4) =§, csc(A4) =@, sec(A4) = E, cot(A) =§}, , {L()}
Ans2 = {sin(A) = 2 f, cos(4) = 2 f, tan(A4) :i, csc(A4) = J?, sec(4) = @, cot(4) = %}, , {L()}

[ 2
x -1 1 X 1
Ans3 ={sin(A) =————,cos(A)=",tan(A4) =~/ -1, csc(A) =—F7—,sec(4)=x, cot(A4) =—]
X X Ax =1 -1

, x A 49 — x° x 7 7 A 49 — X
Ansd =|sin(4d)=—",cos8(A)=—"-,tan(4d)=—F7————=,csc(4d)=",sec(4d) =—F——,cot(4 ) =——
7 7 Al 49 — 2 x A/ 49 — ¥ X

[ Ans.I=[y=cos(0),2m1,[-1,1]] :)
Ans.2=[y=4sin(0),2 m, 4, [-4,4]] A

. 2n - . 2)
Ans.3=|y=sin(30),—/—, 1,[-1,1] 3 TX -

3 y=-_cos| — |, re A

2 2 2 )
Ans.4=|y=6sin(36),—,6,[-6, 6] 3 -

3 y=7sin(2 x), green o(

1 nl[-11 2 )

Ans5 =| Ans.5= yz—gcos(6 6),;,5, ;,g , Ans6=| [y=-sin(x)+ 1, black] || —
0 [ 3 cos| = |4 } )
Ans.6:[y:55in(5j—3,4n, 5,[-8,2]} y=3cos 3 ) , cyan l(
. .

1 2 1(-11 = — :
Ans.7:[y=——cos(5ne),—,—,[—,—ﬂ _{y 2c0s(3j+4, bluel :)

4 54144 A

) Y,

Ans.8 =| y=-3 cos ? -5,10,3,[-8,-2] —(
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TrigonometryExercise Answers for No.645126
44/41 5 J41 J41 4 o
41 4 ,COt(A):g s s

5
Ansl = {sin(A) =

Al ,cos(A4) = ,tan(A)=Z,csc(A)=T,sec(A)= o
AZ—{'A—g A)=2 tan(4) =2, ese(4) = see(d) =2 tA—ﬂ [ﬂ}
ns2 =| sin( )—5,005( )—5, an( )—4,csc( )—3,sec( )—4,co( )—3, 17y
Ans3 in(A) 25+ (A) St (A) 25 +x° (A) X (A) X ((A) 5
ns3=|sin(4)=—"—"""",cos(4)=—",tan(Ad)=————,¢csc(4d)=—F7——, sec(4) =", co =
L x X S A =25 +x° S A =25 +x% ]
nsd = sin(4) 36 +x° " 6 " 36 +x° " X )= cott ) 6
nsd =|sin(4d)=—"—"—"—"—""",cos(4)=",tan(4d)=———,¢csc(4d)=—F———,sec(4) =", co =
I X x 6 A =36+ 6 A =36 +x7
R
Ans. I =[y=sin(0),2m, 1,[-1, 1]] _(
Ans.2=[y=5cos(0),2m, 5,[-5,5]] )
. 27 i 1 11 =
Ans.3 :[yz sin(3 0), T’ I, [-1, 1]} [y:—g sin(?j, blue} A
2
Uns.4 = {y — 2 sin(60), g’ 2.[-2, 2]} [y _5_005(7:1_ 2, green | o
=—sin| — |-3, cyan 2)
AnsS = 0 Ans6 = {y 2" 2 )77 } =~
e [ y=2 sin(gj, 127,2,[-2,2 ]} p Ansé . 4
I n 124 26 [y :2605(7} red} =
Ans.6 = y=——"cos(60)+5, -, | — A
5 350505 [_2.(1}21)[4 )
Ans.7=[y=-5sin(2 1 0), 1,5,[-5,5]] N Ul Al I
1 (n0 1[9 -7 o
Ans.8=|y=——cos| — |-2,12,—,| —, — 2)
i 4 6 14 4]l »
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TrigonometryExercise Answers for No.645127

3 4 3 5 5 4
Ansl = {sm(A)— cos(A)— tan(A)— csc(A)— ,sec(A4d) =" cot(A)——} ,[ (

i 3ﬁ 8473 = ﬁsec(/l):@ cot(A)—§} ,{ﬁ

AnsZ:_sm(A): - ,cos(A) = 3 tan(A)— ,csc(4) = 3 g =7 | 7_
. 2 X 2 A4 Na4+x
Ans3 =| sin(Ad) =—F——=,co8(4)=—"F——=,tan(4) =", csc(4d) =" sec(A)— t(A)—
L AN4+x 4+x° X i
, 25— x° 25 —x° 5 5 X
Ans4 =| sin(4d)=—"—"—"—"—,cos(4) = tan(A) == ,cs¢(Ad)=—F—,sec(4d)=",cot(4) =—fF——
5 x 25 —x° x 25 —x°
[ Ans.I=[y=cos(0),2m,1,[-1,1]] ] )
Ans.2=[y=-3sin(0),2 m, 3,[-3,3]] A
Ans.3:[y:sin(69),£,1,[-1,1]} I X A
3 y=23cos| |, cyan N
A4{ 6'(56)2n6[66]} : )
ns.4=|y=~6sin , = »0,[-6, o
Y 5 |:y——3 s1n[7T j blue} N
s A5[ 1(39)27”[11}} s 2 )
= ns. sin P R ) = o,
s 2 3721272 - [y:2cos(%)—2,green} A
0 .
Ans.6 = [y =-5 sin(g] +5,6m5,[0, 10]} [y =—sin(x), black] l
1 21([-11 [ 2 os(2x) + 4 d} i
Ans.7:[y:——cos(3ne),—,—,{—,—ﬂ L y—2cos( *)+4,re i 2
4 34474 o
[(mO Y,
Ans.8 = y=-3sin 7 +1,4,3,[-2,4] _(
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TrigonometryExercise Answers for No.645128

X

2 5 24/5 3 34/5 5 :
Ans! —{sm(A) =3 cos(4) —£ tan(4) = 5[ cso(4) =3, sec(4) = 5[ cot(4) =§} {—C)}
2 34/5 24/5 7 745 345 :
Ans2 = [ sin(4) = cos(A) = [, tan(4) = [, csc(A)=_,sec(A4) = [, cot(4) = [ }, [«/7}
7 15 2 15 2 (
_ q/x2 - 25 5 q/x2 5
Ans3 =|sin(A)=—""",cos(4)=",tan(4) = csc(A) —F—,sec(4) = cot(A)
L X X Al x* =25 A X - 25
, A X =25 5 Ax*-25
Ans4d =|sin(A)=—""",cos(4)=",tan(4) = csc(A) =—F——,sec(4)=" cot(A)
L X X A x* =25 «/x - 25 |
[ Ansd=[y=sin(0),2m 1,[-1,1]] ] )
Ans.2=[y=3cos(0),2m,3,[-3,3]] |
T - - 2)
Ans.3:[ =sin(40),—, 1,[-1,1] 3 TX -
Y 2 y=7cos| | —4,blue o
[ - } 2 3 )
Ans.4d=|y=-2sin(60),,2,[-2,2] x -
Y (69) 3 {y =2 sin(;) -3, black} A
0 .
Anss = Ans.5=[y:4cos(gj, 12 &, 4, [-4,4]} , Ans6 = [y=—cos(x)—1, red] l(
5 ;
1 2w 1|19 21 = _——si :
Ans.6:[y:—cos(3 0)+5—. {—,—H [y 5 Sin(2mx), green | | | )
4 3 414 4 . o
2 — — .
Ans.7:{y=—3 sin(Sne),g, 3,[-3,3]} L [y 3c0s(2j, cyan} i l(
1 o 11-5-3 2)
Ans.8=|y=—_cos| —— |—-2,6,,| -
L 2 3 21272 L (]
REET R LN D 0:0:0:0:0:0:0:0.0:0.0:0.0.0.0.0.0.0:0.0.0.0.0.0.0.0:0:0.0.0.0.0.0.0:0.0.0.0.0.0.0:0.0.0.0.0.0:0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.0:0.0.0.0.0.0:0:0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0:0.0.0.0:¢
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5«/39} {«/.-)}

Ansl = {sin(A) = B ,cos(A4) = 2 tan(A) = @, csc(A4) =%, sec(A4) =§, cot(4) = 3 ol

8 5

4?,COS(A)=%, tan(4) = 4f,csc(A): 9;/5, sec(A):%, cot(4) = 7?}, ,[«/7}

3 A/ =9 3 X X =9
Ans3 = { sin(d)="—",cos(4d)=—"",tan(4) = —F7—, csc(4) = sec(A) T cot(A) =—_
X X =9 A X - 3 }
Ans4 :{sin(A) = %, cos(4)= %, tan(A4) = %, csc(A) = sec( )= cot(A4) = }
49 + x 49 + x

Ans2 = [ sin(4) =

| Ans.I=[y=sin(0),2 7, 1,[-1,1]] :)
Ans.2=[y=-5co0s(0),2m,5,[-5,5]] N
Ans.3:[y:sin(69),£,1,[-1,1]} [ (x) } 2
y=3cos E -2, cyan o

2 .

Ans.4 = [y——Z sin(3 0), T 2,[-2, 2]} [y =cos(x), green] l

I 2n 1[-11 [—l'(ﬂjbl} !

AnsS = Ans.5=[yzzsin(39),7,2,[2,2}} , Ans6 = I i > oie , l(
Ans.6:[y=—2 sin(%j—4, 61,2, [-6, -2]} [y =3 Sin(?j’ blad{} 2
I 1111 [ 2 '(”ju a’} )(

_ e y==-2sm| —— , re 2)

Ans.7 = {y 3sm(47:(9) >3 {3,3H i 3 | y
el ) |
Ans.8 =| y==3sin| == |+1,10,3,[-2,4] »

DG BT SRR VIVNV A 1D19:0:0:0:0:0:0:0:0:9:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0.0.:0.0.:0:0:0.0.0.0.9.9:0.9:0.0.9.9.0:9:0.0.9:0.9.9.9.9.9.9.0.0.9.9.9:9.9.9.9.9.9.9.9.9.9.9.9.9.9.9.9.9.9.9:9.9:9:0.9.9.0.0.9.0.¢
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.-(

e e Fin o 7] [

,c08(A) = 5, tan(A4) = ,csc(A4) = I sec(A)=",cot(4) =

Jo-v 3 3 F}

Ans3 = { sin(4) = cos(A) =———_ ., tan(4) = csc(A) =—,sec(d)=—"F—,cot(4) =
3 x o
2

X A/ 25 -x 5 5
Ansd = { sin(d)="—",cos(4d)=""_"",tan(4) = csc(A )=",sec(4d)="F———=,cot(4) =
5 ,/ X

{ 3 4 3 5 5 4} [
Ansl =| sin(4) = cos(A) =" tan(A) = csc(A) = sec(A) = cot(A) =—1 ,

Ans2 = [ sin(4) =

5 25— x°

Ans. 1 =[y=cos(0),2 =, 1,[-1,1]]
Ans.2=[y=6sin(0),2 m, 6,[-6,6]]

Tc r -
Ans.3:[ =sin(40),—, 1,[-1,1] 1
g 2 y=_sin(2x)+ 2, blue
A4[ 5'(39)”5[55]} ’
ns.« = = sm s s L
g 3 [ y=-2 sin[ﬁj, red }
Ans. 5 [ 1 392—1[—11}} y
AnsS = ns.J = y__4 COS( )a 3 4 4,4 , Ans6 = [y:COS()C)—z, black] ,
0 [ —é (M]—4 c an}
AnS-6=[y=4sin(3j 26114[6,2]} Y =5 008 75 ,cy
1 111 { _ 5.0 }
Ans,7:[y:——cos(2ne)’1’—’[—’—:|:| . y——2SIIl( TCX),gl”een |
4 414 4

NS NS A A Nty NIty NS T
|
1

e
Ans.8 =[y =—06 COS(TJ +3,6,6,[-3, 9]}

L
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